et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:15 05.12.2006
GO 2007 9 03 903-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
alternator 110A
(1A) 06F 903 023 B alternator VALEO 1
(1) 06F 903 023 BX |alternator VALEO 1
(1a) 06F 903 023 G alternator BOSCH 1
(1) 06F 903 023 GX |alternator BOSCH 1
alternator 140A
(1a) 06F 903 023 F alternator BOSCH 1
(1) 06F 903 023 FX |alternator BOSCH 1
(1A) 07K 903 023 A alternator BOSCH 1
(1) 07K 903 023 AX |alternator BOSCH 1
single parts
2 022 903 119 A |poly v-belt pulley with 1
freewheel and cover cap
for alternator: 7,8,12,13
as required use: 037 145 291
(2) 06F 903 119 A ribbed belt pulley 1
for alternator: 1,5,6
3 06B 903 193 B protective cap VALEO 1
for alternator: 12
(3)| O06F 903 193 protective cap VALEO | 1
for alternator: 4,6,8,10,14
(3) 06F 903 193 A protective cap BOSCH 1
for alternator: 3,5,7,9,11,13,
15
4 06F 903 803 A voltage regulator BOSCH 1
for alternator: 3,5,7,9,11,13,
15
(4) 06B 903 803 B voltage regulator VALEO 1
for alternator: 1,2,4,6,8,10,
12,14
5 028 903 320 C repair kit for M16X1,5 1
generator
(5) 030 903 181 shouldered nut M16X1,5 1
page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:15 05.12.2006
GO 2007 9 03 903-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
6 037 145 291 protective cap 1
only for: 022 903 119 A
14 N 011 008 40 |hex. nut M8 1
for contact: B+
15 N 904 030 02 |cap 13X14 B+ 1
for contact: B+
page: 002 EPIS 474

et_bt2.frm



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:16 05.12.2006
GO 2007 9 03 903-53 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
connecting and mounting parts 2.01ltr. BPY
for alternator
ribbed v-belt
(1) 06F 903 143 E bracket for generator and 1
refrigerant compressor
2 N 907 529 02 |socket hd. screw with M10X45 6
collar
5 alternator
see illustration: 903-00
6 06F 260 849 L ribbed v-belt 21,36X1054MM 1
7 06F 903 315 tensioner 1
8 + N 102 683 02 |bolt, hex. hd. with shoulder AM8X45 3
page: 001 EPIS 474



ETKA

et _text.frm

Model Year MG SG lllustration Restrictions UPD 18:16 ‘ 05.12.2006
GO 2007 9 03 903-66 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
connecting and mounting parts 2_51tr. BGP,BGQ
for alternator
ribbed v-belt
1 07K 903 141 C bracket for generator and 1
refrigerant compressor
1A 038 103 139 A sleeve 13,5X12,5 1
2 N 101 973 01 bolt, hex. hd. with shoulder BM10X65 3
3 + N 102 416 03 bolt, hex. hd. with shoulder AM10X45-SW16 3
4 N 106 100 01 bolt, hex. hd. with shoulder AM8X90W 2
5 alternator
see illustration: 903-00U
903-00
6 07K 145 933 C ribbed v-belt 17,80X925MM 1
(6) 07K 145 933 E ribbed v-belt 17,80X1063MM 1
7 07K 903 315 J tensioner 1
for generator
tobe used only with: 07K 145 933 E
(@) 07K 903 315 H tensioner 1
for compressor
tobe used only with: 07K 145 933 C
8 + N 102 683 02 bolt, hex. hd. with shoulder AM8X45 2
9 07K 145 172 B roller with mounting 1
10 N 101 961 03 bolt, with polygon socket hd. M6X18-CH 3
(combi.)
11 07K 145 172 C roller with mounting 1
12 N 908 706 02 socket hd. screw with polygon M8X35 2
socket
page: 001 EPIS 474



Model

GO

Year

2007

MG

Illustration

903-95

Restrictions

Rabbit/GTI

UPD

597

18:16 0

USA

5.12.2006

ETKA

Pos

Part Number

Name

Remarks

oty

Model

T Q@ =M ®m g Q wow

06F 260 849 L

07K 145 933 C

07K 145 933 E

list of 'v' belts
crankshaft

alternator

water pump

power steering

belt tensioning damper

air conditioner compressor
relay roller

viscous fan

ribbed v-belt

for vehicles with air condit.

ribbed v-belt
ribbed v-belt

ribbed v-belt

21,36X1054MM
17,80X925MM

17,80X10363

BPY
BGP, BGQ

BGP, BGQ

et_btl.frm

page: 001

EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:16 05.12.2006
GO 2007 9 05 905-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
ignition coil BPY, BGP, BGQ
spark plug
(6) 07K 905 715 A ignition coil with 4 |BPY
spark plug connector 5 |BGP,BGQ
(15) 101 905 631 B spark plug 'longlife' BOSCH | 4 |BPY
(15) 101 905 600 C spark plug 'longlife’ NGK 5 |BGP,BGQ
et btLfrm page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:16 05.12.2006
GO 2007 9 06 906-10 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
5— — 6 oxygen sensor
1 2 !j Aj (in front of catalyst)
| I ,/’r_—lﬂlﬂﬂﬂ)j——— (1) 06A 906 262 DA |oxygen sensor 1 |BGP,BGQ
\ \ OOO‘/'\’“/‘\J (1) 06F 906 262 AC |oxygen sensor 1 |BPY
} (- —
OOO"::" I\::“ oxygen sensor
(behind catalyst)
(2) 06A 906 262 CL |oxygen sensor 1 |BGP,BGQ
3 —4 (2)| o06A 906 262 CK |oxygen sensor 1 |BGQ
(2) 06F 906 262 P oxygen sensor 1 |BPY
11 12
7 8 l |
| \] ‘\1
O \1 \1 oe)— —
| |
9 10
15 16 S
(lf f} 21_{
| |
13 14
et_btl.frm page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:17 05.12.2006
GO 2007 9 06 906-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
control module - engine gas engine
(1) 1K0 907 115 B control module - engine 1 |BPY
fasteners
(2) 1K0 906 214 D bracket for elec.contr. module 1lhd 1 |BPY
3 N 015 082 9 shouldered hex. nut Mé 2
5 1K1 907 269 catch 1hd 1
6 N 910 647 01 |sheer bolt, self-locking M6X16 2
7 1J0 971 739 clip 2
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:17 05.12.2006
GO 2007 9 06 906-30 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
impulse sender
knock sensor
thrust sensor
operating valve
temperature sensor
(6) 038 906 051 D thrust sensor 1 |BPY
(6) 036 906 051 G thrust sensor 1 |BGP,BGQ
(7) + N 901 720 01 |tapping screw, fill. hd. 5X22 2 |BPY
(7) N 104 420 01 | innensechsrund-blechschraube 5X16-Q 2 |BGP,BGQ
(8)| O06A 906 433 L impulse sender 1 |BPY
speed sender
(8)| 06C 905 163 B impulse sender 1 |BPY
camshaft
(8) 07K 906 433 B impulse sender 1 |BGP,BGQ
crankshaft
(8) 07K 907 601 impulse sender 1 |BGP,BGQ
camshaft
(9) N 103 470 03 |bolt, with hex. socket hd. M6X16 1 |BPY,BGP,BGQ
(combi.)
camshaft
(10) 06E 905 377 A knock sensor with green 1 |BPY
harness 465MM
(10) 06F 905 377 knock sensor with brown 1 |BPY
harness 160MM
(10) 07K 905 377 knock sensor with 660MM 1 |BGP,BGQ
harness grey
(10) 07K 905 377 A knock sensor with 76 0MM 1 |BGP,BGQ
harness green
(11) N 010 332 7 screw, hex. hd. M8X32 1 |BGP,BGQ
(11) N 010 272 4 screw, hex. hd. M8X26 2 |BPY
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:17 05.12.2006
GO 2007 9 07 907-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
tire pressure controll system GTI
1 1K0 907 253 E wheel electronic sensor 315 MHZ 4
3 1K0O 998 275 A repair kit 1
tire pressure controll system
5 WHT 001 297 union nut 4
6 1J0 907 299 cap 4
7 1K0O 907 610 valve insert 4
only for: 1K0 907 253 E
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:17 05.12.2006
ETKA
GO 2007 9 07 907-30 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
5 sensor for headlight range front
| control
/ﬁﬁﬁg (1) 1K0 941 274 B self-lev. sensor with linkage 1
7 ?//% N —A4 2 1TO 907 503 selve levelling sensor 1
éﬁ %& @ 3 3 + N 011 183 12 |hex. nut, self-locking M6 1
4 N 104 343 01 | screw, cheese hd. M5X10 2
] 5 + N 010 287 3 screw, hex. hd. M6X16 1
6 + N 011 547 6 washer A6,5X14X1,6 1
7 N 102 058 02 | shouldered hex. nut M6 1
8 not a spare part
sensor for headlight range rear
control
15 1KO 941 273 E self-lev. sensor with linkage 1
16 1TO 907 503 selve levelling sensor 1
17 + N 011 183 12 |hex. nut, self-locking M6 1
18 N 104 343 01 |screw, cheese hd. M5X10 2
19 N 105 977 01 |rivetted cap nut M5/0.5-3-AR 5
20 N 104 301 04 | innensechsrund- M5X16 5
flachkopfschraube
control unit for automatic
headlight range control
30 1TO 907 357 control unit for automatic 1
headlight range control
33 + N 906 986 03 | innensechsrund-blechschraube ST4,2X16-C-T20 2
as required use: N 900 579 02 X
- N 900 579 02 | speed nut B4,2X12,5X11,5 2
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:18 05.12.2006
ETKA
GO 2007 9 11 911-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
starter 5 speed— )
41 transmission
5 (1) 02Z 911 023 J starter 1,4KwW BOSCH 1
| | (1) 02Z 911 023 JX |starter 1,4KW BOSCH 1
6 9
l ///’ starter 6 speeq— i
transmission
(1) 02M 911 023 G starter 1,1KW BOSCH 1
(1) 02M 911 023 GX | starter 1,1KwW BOSCH 1
(1) 02M 911 023 M starter 1,1KwW VALEO 1
(1) 02M 911 023 MX | starter 1,1KwW VALEO 1
starter 6—speedl
automatic+
(1) 02E 911 023 J starter 1.1KwW BOSCH 1
l (1) 02E 911 023 JX |starter 1.1KW BOSCH 1
2 (1) 02M 911 023 S starter 2, 0KW BOSCH 1
(1) 02M 911 023 SX |starter 2, OKw BOSCH 1
single parts
2 N 907 016 04 |double hex. hd. bolt M12X55/M8X10 X
(2) N 907 665 02 |double hex. hd. bolt M12X180/M8X16 1
(2) N 908 271 01 |double hex. hd. bolt M12X165/M8X16 X
(2) N 909 564 02 |bolt, hex. hd. with socket M10X45 X
head
(2) N 910 041 01 |double hex. hd. bolt BM12X135X49 X
(2) N 910 305 01 |double hex. hd. bolt AM10X40 X
(2) N 910 426 01 |double hex. hd. bolt M12X150/M8X16 X
(2) N 910 593 01 |double hex. hd. bolt M12X155/8X16 X
4 N 011 118 16 |hex. nut BM8 1
5 N 012 038 7 lock ring 8 1
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:18 05.12.2006
GO 2007 9 11 911-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
6 0AH 911 287 solenoid switch BOSCH 1
for starter: 1,5,8,12
(6) 02E 911 287 A |solenoid switch BOSCH 1
for starter: 15,16,17
(6) 02Z 911 287 solenoid switch VALEO 1
for starter: 1A,3,5A,8A,9,
13
7 035 911 299 B innensechsrundschraube M5X33 3
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:18 05.12.2006
GO 2007 9 15 915-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
battery
(1) 000 915 105 AD |battery with charge state 61AH/330A 1
indicator, filled and charged
(1) 000 915 105 AF |battery with charge state 72AH/380A 1
indicator, filled and charged
battery mounting
(9) 1K0 915 325 heat deflector
F >> 1K-6B069 860%* 1 |BPY
F >> 1K-6P016 554*
F >> 1K-6U011 355%*
F >> 1K-6W071 390%*
(9) 1K0 915 325 A heat deflector
F 1K-6B069 861>>%* 1 |BPY
F 1K-6P016 555>>%*
F 1K-6U011 356>>%*
F 1K-6W071 391>>%*
(10)| 1KO 915 333 C |bracket - battery 1
(10) 1K0 915 333 D bracket - battery 1 |BPY
(11) 1K0 915 335 C trim for battery 1
(12) 1K0 915 336 B trim for battery 1
(13) 1K0 915 443 A cover for battery
F >> 1K-6-250 000 1
(13) 1K0 915 443 C cover for battery
F 1K-7-000 001>> 1
20 6X0 959 502 A clamping strip for battery 1
21 N 101 092 08 |bolt, hex. hd. with shoulder M8X30 1
22 N 104 827 01 |bolt, hex. hd. with shoulder M6X35-10 3
23 N 905 770 01 |clamping washer 11.2X25.5X2 2 |BPY
(35) 1K0 915 418 A |battery protection cover 60AH/280A 1
61AH/330A
(35) 1K0 915 418 B battery protection cover 70AH/340A 1
72AH/380A
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:18 05.12.2006
ETKA
GO 2007 9 19 919-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
parking aid rear
1 1K0 919 279 warning buzzer sender 1
2 1KO0 919 283 A |parking aid control unit
* order only with color code *
06/05 022 |parking aid control unit 1 |PR-6P1
02/06 023 |parking aid control unit 1 |PR-6P2
5 1K6 919 491 bracket for ultrasonic sensor left outer 1
06/05 GRU | primed
(5) 1K6 919 491 A |bracket for ultrasonic sensor left inner 1
06/05 GRU | primed
(5) 1K6 919 491 B bracket for ultrasonic sensor right inner 1
06/05 GRU | primed
(5) 1K6 919 491 C bracket for ultrasonic sensor right outer 1
06/05 GRU | primed
8 7L6 919 659 sealing washer 4
06/05 01C | satin black
9 1K6 919 939 double-sided adhesive tape 4
ultrasonic sensor
10 1K0 971 502 bracket for control unit 1
park assist
11 1K6 971 502 bracket for warning sensor 1
15 1U0 998 275 B ultrasonic sensor 4
20 N 038 505 1 rivet B5X7,9 2
page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:18 05.12.2006
GO 2007 9 19 919-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
()
P warning lights
3— (1)| 1Ko 919 242 A |sleeve 1
warning lamp
06/05 71N | anthracite
(2) 1K0 919 238 warning lamp 1
electrical outlet
cigarette lighter
(8) 1J0 919 341 G housing for lighter with cover |front 1 |PR-9JA,5TC
center console
(8) 1K0 919 341 B housing for lighter with cover front 1 |PR-9JA+5MD,
center console 5TK, 5MG, 5MA,
5MJ
(8) 1K0 919 341 A |housing for lighter with cover |right 1
for vehicles with socket
in luggage
(8) 1K0 919 341 D housing for lighter with cover 1
06/06 9B9 | satin black
electrical outlet 115V
- 1K0O 907 155 A inverter 115V-60HZ/150W 1
- 1K0 919 317 B frame 1
02/06 71N | anthracite
et_btl.frm page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:18 05.12.2006

ETKA

GO 2007 9 19 919-30 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
fuel delivery unit and
fuel gauge
sender

control unit for
fuel delivery unit

1 1TO 906 093 D control unit for 1 |FSI
! fuel delivery unit

2 1K0 971 839 E cover 1
(2) 1K0 971 839 F cover

for vehicles with stat.heater 1
with radio controlled remote

(3) 8E0 919 133 G sealing washer 1 |gas engine;
FSI

(4) 1K0 919 051 AP |fuel delivery unit and 1 |gas engine
fuel gauge
sender

(4) 1KO0 919 051 AQ |fuel delivery unit and 1 |FSI
fuel gauge
sender

5 1K0 919 673 K fuel gauge 1
sender

o
SV

IS ]
o=~

et_btl.frm page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:18 05.12.2006
GO 2007 9 19 919-40 Rabbit/GTI 597 USA ETKA
Pos Part Number Name Remarks Qty Model
switches and senders on engine BPY, BGP, BGQ
1 038 103 196 sealing washer 1
3 032 121 142 retaining spring X
(6) 06E 907 660 0il level sensor 1 |BPY
7 06B 907 667 cover 1 |BPY
0il level sensor
(8) 06D 919 081 B oil pressure switch 1.2-1.6 BAR 1 |BPY,BGP,BGQ
M10X1
10 06A 919 501 temperature sender 2 pin 1 |BPY,BGP,BPQ
water pump black
15 N 104 720 01 |socket hd. screw with M6X28 3
collar
30 8Z0 820 535 outside temperature sensor 1
25
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 20 920-16 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
instrument cluster MPH GTI+PR-QGO
F >> 1K-6-250 000
(1) | #1Ke6 920 972 EX | instrument cluster 180MPH
f#02/06-05/06Z01 |instrument cluster 1
instrument cluster MPH PR-QGO
F 1K-7-000 001>>
(1)| #1K0 920 953 HX | instrument cluster 160MPH BGP, BGQ
for vehicles without multi
function indicator
f#06/06 Z01l | instrument cluster 1
(1) | #1K0 920 973 CX | instrument cluster 160MPH BGP, BGQ
for vehicles with multi
function indicator
f#06/06 Z01l | instrument cluster 1
(1)| #1K0 920 973 GX | instrument cluster 160MPH BPY+
for vehicles with multi comfort
function indicator version
f#06/06 Z01l | instrument cluster 1
(1) | #1K6 920 973 AX | instrument cluster PR-A8SH
for vehicles with multi
function indicator
£#06/06 Z01l | instrument cluster 1
instrument cluster KM/H "CDN"+GTI+
F >> 1K-6-250 000 PR-QGO
(1)| #1K6 920 862 EX | instrument cluster 300KM/H PR-9Q1
f#02/06-05/06201 |instrument cluster 1
| (1)| #1K6 920 872 EX | instrument cluster 300KM/H PR-9Q5
I 3 f#02/06-05/06Z01 | instrument cluster 1
instrument cluster KM/H "CDN"+PR-QGO
F 1K-7-000 001>>
(1)| #1K0 920 853 LX | instrument cluster 260KM/H BGP, BGQ
for vehicles without multi
function indicator
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 20 920-16 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
f#06/06 Z01 |instrument cluster 1
(1)| #1K0 920 853 JX |instrument cluster 260KM/H BPY+
for vehicles without multi comfort
function indicator version
f#06/06 Z01 |instrument cluster 1
(1)| #1K0 920 873 EX |instrument cluster 260KM/H BGP, BGQ
for vehicles with multi
function indicator
f#06/06 Z01l |instrument cluster 1
(1)| #1K0 920 873 CX |instrument cluster 260KM/H BPY+
for vehicles with multi comfort
function indicator version
f#06/06 Z01 |instrument cluster 1
(1)| #1K6 920 873 AX |instrument cluster 300KM/H PR-A8H
f#06/06 Z01l |instrument cluster 1
fasteners
2 N 906 986 06 |innensechsrund-blechschraube ST4,2X16-C-T20 2
3 see illustration: 919-40
5 N 906 989 01 |speed nut 4 ,2X16X12 2
page: 002 EPIS 474



Model

GO

Year

2007

MG

SG

27

Illustration

927-00

Restrictions

Rabbit/GTI

UPD

597

18:19 0

5.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

6B

6C

+ N 010 287 3

+ N 011 547 6

G 052 142 A2
6Q0 971 907

1KO0 907 375 AA

7HO 907 652 A

7HO 907 652 A

1K0O 907 655 D

7HO 907 655 A

7HO 927 803

7HO 927 804

speed sensor with

securing parts

combi sensor for acceleration
and rpm

anti lock brake system
control module -abs-

poly lubricant
protective cap

anti lock brake system
control module -abs-
for vehicles with electronic
stability program -esp-
F 1K-6B076 500>>
F 1K-6P016 976>>
F 1K-6U013 012>>
F 1K-6W078 890>>

to be used for:

multiple sensor
F 1K-7-000 001>>*

multiple sensor

for vehicles with

drive-off assistance

combi sensor for acceleration
and rpm

for vehicles without
drive-off assistance

duo sensor
F 1K-7-000 001>>*

screw, hex. hd.

washer

hex. nut, self-locking
speed sensor

speed sensor

bolt, with hex. socket
hd.

harness for speed
sensor

front

400G

1K0 614 517 T
1K0 614 517 AA
1KO0 907 379 AA

M6X16
A6,5X14X1,6
AM6

left front
right front

M6X16

front

HBRRR

et_btl.frm

page: 001

EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 27 927-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
10 1K0 927 903 harness for speed left front 1 40 1K0 927 903 D harness for speed sensor left front 1
sensor and brake pad wear
for vehicles with anti-locking indicator
brake system -abs- for vehicles with gas
discharge bulb
(10) 1K0 927 903 A |harness for speed right front 1
sensor (40) 1K0 927 903 E harness for speed left front 1
for vehicles with anti-locking sensor
brake system -abs- for vehicles with gas
discharge bulb
11 + N 906 661 01 |tie wrap 5X6,5 X
41 N 906 661 01 |tie wrap 4,5X200 X
12 1J0 906 102 grommet 8,2X40 1
42 357 972 740 E single wire seal 3,9X7,8 X
13 357 972 740 D |single wire seal 3,9X7,8 X red
grey
43 1J0 906 102 grommet 8,2X40 1
14 000 979 131 A |1 set: single wires each 1,0 X
with 2 contacts gold plated, 44 1J0 973 802 male blade terminal housing 2 pin 1
gty. 5 per bag
'order unit 5' 45 000 979 132 1 set of single wires each 1,0 X
with 2 contacts,
15 6E0 973 702 flat contact housing 2 pin 1 in bag of 5
'order unit 5'
20 1K0 927 903 B |harness for speed sensor left front 1
and brake pad wear 46 1J0 906 102 grommet 8,2X40 1
indicator
47 357 972 740 E single wire seal 3,9X7,8 X
21 + N 906 661 01 |tie wrap 5X6,5 X red
22 1J0 906 102 grommet 8,2X40 1 48 000 979 131 A 1 set: single wires each 1,0 X
with 2 contacts gold plated,
23 357 972 740 E |single wire seal 3,9X7,8 X gty. 5 per bag
red 'order unit 5'
24 1J0 973 802 male blade terminal housing 2 pin 1 49 6E0 973 702 flat contact housing 2 pin 1
25 000 979 132 1 set of single wires each 1,0 X 50 4B0 973 712 flat contact housing with 4 pin 1
with 2 contacts, helper contact catch
in bag of 5
'order unit 5' 51 000 979 131 A 1 set: single wires each 1,0 | X
with 2 contacts gold plated,
26 6E0 973 702 flat contact housing 2 pin 1 gty. 5 per bag
'order unit 5'
27 000 979 131 A |1 set: single wires each 1,0 X
with 2 contacts gold plated, 52 357 972 740 E single wire seal 3,9X7,8 X
gty. 5 per bag red
'order unit 5'
53 4B0 972 840 plug 4,0X7,8 X
28 357 972 740 E single wire seal 3,9X7,8 X white
red
54 6NO 906 102 grommet 11,9X53 X
29 1J0 906 102 grommet 8,2X40 1
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 27 927-01 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
speed sensor rear
1 G 052 142 A2 |poly lubricant 400G 1
2 1K0 927 807 speed sensor left 1
(2) 1K0 927 808 speed sensor right 1
3 N 014 740 4 bolt, with hex. socket M6X16 1
hd.
4 6Q0 971 907 protective cap 1
harness for speed rear
sensor
(10) 1K0 927 904 T harness for speed left rear
sensor
for vehicles with gas
discharge bulb
11 000 979 131 A 1 set: single wires each 1,0 X
with 2 contacts gold plated,
gty. 5 per bag
'order unit 5'
12 4B0 973 712 flat contact housing with 4 pin 1
helper contact catch
13 357 972 740 E single wire seal 3,9X7,8 X
red
for wire cross section: 0,35-0,5
(14)| 4BO 972 840 plug 4,0X7,8 X
white
15 6NO 906 102 grommet 11,9X53 1
16 N 906 355 17 |corrugated pipe in coils of 5m |4,5 X
'order unit 5'
(17) N 906 661 01 |tie wrap 4,5X200 X
f. hole/sheet metal thickness: 6,5 / 0,3-3
18 357 972 740 D single wire seal 3,9X7,8 X
grey
for wire cross section: 0,5-1,0
19 000 979 131 A 1 set: single wires each 1,0 X
with 2 contacts gold plated,
4 @ gty. 5 per bag
N 'order unit 5'
= flat contact 1,5
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 27 927-01 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
20 6E0 973 702 flat contact housing 2 pin 1
for single wiring: 000 979 131 X
000 979 131 A X
21 1J0 906 102 grommet 8,2X40 1
40 1K0 927 904 S |harness for speed left rear 1
sensor
(40) 1K0 927 904 M |harness for speed right rear 1
sensor
41 6E0 973 702 flat contact housing 2 pin 1
42 000 979 131 A |1 set: single wires each 1,0 X
with 2 contacts gold plated,
gty. 5 per bag
'order unit 5'
43 357 972 740 D single wire seal 3,9X7,8 X
grey
for wire cross section: 0,5-1,0
44 1J0 906 102 grommet 8,2X40 1
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 27 927-40 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
switch and sender on gearbox
for 6-speed direct shift
gearbox
(1) 02E 927 321 A speed sender 1
6 speed direct shift trans. trans. code: HUT, HXW
ZAL
e
2
—4
&S
|
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 27 927-45 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
control unit for 6 speed
automatic transmission
(1) 09G 927 750 FL |control unit for 6 speed 1 |BGP,BGQ
automatic transmission
fasteners
3 1K0 927 335 bracket for elec.contr. module 1
4 N 015 082 9 shouldered hex. nut Mé 3
5 1J0 971 739 clip 1
7 N 101 579 02 |screw, hex. hd. M6X25 2
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
GO 2007 9 37 937-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
electronic control module
control unit for gateway
(1) 3CO0 937 049 AC |electronic control module 1
1A 1K0 907 530 F control unit for gateway
F >> 1K-6-250 000 1
1A 1K0 907 530 H control unit for gateway
F 1K-7-000 001>> 1
fasteners
relay
(2) 1K1 937 503 relay plate 1hd 1
3 1K0 951 253 A relay 1
relay location/code no.: KL15/460
(3) 1K0 951 253 A relay 1
relay location/code no.: KL75/460
4 1K0 951 253 relay 1
for rear view mirror, heated:
relay location/code no.: SHZG/449
(4) 1K0 951 253 relay 1
for horn
relay location/code no.: HORN/449
(4) 8Z0 951 253 relay 1
flap-lock,
electrically operated
relay location/code no.: HDF/449
to be used for code no.: 404
(4) 8Z0 951 253 relay 1
windshield washer unit
relay location/code no.: DWP-V/395
to be used for code no.: 404
(4) 8Z0 951 253 relay 1
windshield washer unit
relay location/code no.: DWP-H/395
to be used for code no.: 404
(4) 1K0 951 253 relay 1
relay location/code no.: KL30/449
5 141 951 253 B relay 1
for rear window glass
heated
relay location/code no.: HHZG/53
page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
ETKA
GO 2007 9 37 937-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
6 141 951 253 B |relay 1 (21) 1K0 937 524 B plug bridge 3 point 1
for headlight washer system clip 15
relay location/code no.: 1/53 for wire cross section: 4
7 1K1 941 397 B |bracket 1lhd X 22 1K0 937 524 D plgg bridge 5 point 1
8 N 010 287 3 screw, hex. hd. M6X16 4 ctiv for wire cross section: 31-5
9 N 903 275 01 |speed nut M6X23,4X14,2 2 23 1K0 937 524 plug bridge 6 point 1
clip 30
for wire cross section: 6
fuse holder (23) 1K0 937 524 C plug bridge 6 point 1
clip 30
15 1K1 941 824 fuse holder lhd | 1 for wire cross section: 6
16 N 017 131 11 |flat fuse 19/2x5 10-red X (23) 1K0 937 524 E pll'lg bridge 6 point 1
(16) N 017 131 12 |flat fuse 19/2x5 15-1ight blue X ctiv for wire cross section: 31-5
(16) N 017 131 13 |flat fuse 19/2x5 20-yellow X
(16) N 017 131 14 |flat fuse 19/2x5 25-natural.col X
(16) + N 017 131 15 |flat fuse 19/2x%5 30-1light green | X
(16) N 017 131 16 |flat fuse 19/2x5 5-1light brown X
(16) N 017 131 17 |flat fuse 19/2x5 3-violet X
(16) N 017 131 18 |flat fuse 19/2x5 7.5-brown X
(16) N 017 131 19 |flat fuse 19/2x5 1-black X
(16) N 017 131 20 |flat fuse 19/2x%5 40-orange X
(16) 8L0 998 131 1 set of flat fuses X
17 N 102 615 01 |[flat fuse 10/2x2,8 5-light brown X
(17) N 102 615 02 |flat fuse 10/2x2,8 7.5-brown X
(17) N 102 615 03 |flat fuse 10/2x2,8 10-red X
(17) N 102 615 07 |flat fuse 10/2x2,8 15-1ight blue X
(17) N 102 615 08 |flat fuse 10/2x2,8 20-yellow X
18 8D0 941 802 tool for fuse 1
replacement
19 N 908 074 04 |innensechsrund-linsenbundschr. M5X18-H-V 4
21 1K0 937 524 A |plug bridge 3 point 1
clip 75
for wire cross section: 6
page: 002 EPIS 474

et_bt2.frm



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006
ETKA
GO 2007 9 37 937-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
fuse box/relay plate for
engine compartment
(1)| 1KO0 937 125 fuse box/relay plate for 1
engine compartment
(1) 1K0 937 124 K fusg box/relay plate for 1 |GTI
engine compartment
2 3D0 951 253 A relay 2
relay location/code no.: 1+2/433
(2) 1K0 906 381 contact close relay 1
relay location/code no.: 4/458
(2) 191 906 383 C contact close relay 1
for fuel pump
relay location/code no.: /167
3 1K0 907 361 B bracket - relay plate/fuse box 1
(4) 1K0 937 132 F cover 1
for fuse box/relay plate
8 1K0 937 700 A flat contact housing 40 pin 1
9 1K0 937 701 A flat contact housing 26 pin 1
(10) 3CO0 971 848 E cable holder 1
11 1KO0 971 910 B grommet 1
12 N 017 131 11 | flat fuse 19/2x5 10-red X
(12) N 017 131 12 | flat fuse 19/2x5 15-1ight blue X
(12) N 017 131 13 | flat fuse 19/2x5 20-yellow X
(12) N 017 131 14 | flat fuse 19/2x5 25-natural.col X
(12) N 017 131 15 | flat fuse 19/2x5 30-1light green X
(12) N 017 131 16 | flat fuse 19/2x5 5-1light brown X
13 N 101 181 02 |shouldered hex. nut, M5 X
self-locking
14 N 102 519 01 | flat fuse 29/2x8 |40-orange X
(14) N 102 519 04 | flat fuse 29/2x8 50-red X
15 N 105 255 02 | fuse 50-red X
(15) N 105 255 04 | fuse 70-brown X
(15)| N 105 255 05 | fuse 80-white X
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:19 05.12.2006

GO 2007 9 37 937-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
(15) N 105 255 06 |fuse 100-blue X
(15) N 105 255 07 |fuse 125-pink X
(15) N 105 255 08 |fuse 150-gray X
(15) N 105 255 10 |[fuse 200-violet X
16 1K0 919 625 shouldered bolt M5X13,5 X
18 1K0 937 540 bracket for relay 1
19 + N 907 676 01 |innensechsrund-blechschraube 6X12 2

page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:20 05.12.2006
GO 2007 9 41 941-02 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
twin halogen headlamps GTI
(1) 1K6 941 005 S twin halogen headlamps left 1
(1) 1K6 941 006 S twin halogen headlamps right 1
2 1TO 941 109 mounting for lamp socket H7 2
for low beam
6 1K6 941 607 A cap for low beam 2
7 1K6 941 608 A cap 2
for high beam
8 7M0 941 953 A park light-bulb holder with X
harness
10 N 017 753 5 bulb 'longlife'! W5S5WLL12V5W 2
12 N 103 201 01 |halogen bulb 12V55W H7 2
13 N 103 201 02 |halogen bulb 'longlife' 12V55W H7 2
for low beam
(13)| 000 998 202 1 set of bulbs H1/H7 X
14 N 910 636 01 |halbrundschraube (kombi) mit M5X16 2
innensechsrund
15 N 910 854 01 | innensechsrund- 6X43 4
flachkopfschraube
16 1K0 998 225 repair kit for headlamp left X
housing
(16) 1K0 998 226 repair kit for headlamp right X
housing
18 4E0 941 041 cap 4
beam length adjustment
16
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:20 05.12.2006
GO 2007 9 41 941-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
headlamp for gas discharge
1|8 |7 bulb
control unit for automatic
headlight range control
sensor for headlight range
control
see illustration: 907-30
(1) 1K6 941 039 B halogen twin headlamp unit left 1
for gas discharge bulb
(1) 1K6 941 040 B halogen twin headlamp unit right 1
for gas discharge bulb
2 1TO0 907 391 electronic control unit for 2
headlight range control
3 1CO0 941 141 innensechsrundschraube 4X27 PT | X
4 4B0 941 293 A range control adjustment motor 2
5 1TO 941 471 igniter for 2
gas discharge bulb
6 6Q0 941 607 B protective cap 2
7 7MO 941 607 A |protective cap 2
8 1TO0 941 621 retaining ring for gas 1
discharge bulb
9 1K6 941 627 A cap 2
turn signal
10 7MO0 941 953 A park light-bulb holder with X
harness
11 N 017 753 5 bulb 'longlife' W5S5WLL12V5W 2
12 N 103 201 01 |halogen bulb 12V55W H7 2
(12) N 103 201 03 |halogen bulb, blue glass 12V55W H7 2
13 N 104 456 01 |halogen bulb H12V/21W 2
14 N 104 457 01 |gas discharge bulb 12V/35W D2S 2
15 N 910 636 01 | halbrundschraube (kombi) mit M5X16 2
innensechsrund
16 N 910 854 01 | innensechsrund- 6X43 4
flachkopfschraube
page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:20 05.12.2006
GO 2007 9 41 941-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
17 1KO0 998 225 repair kit for headlamp left X
housing
(17) 1KO0 998 226 repair kit for headlamp right X
housing
18 4E0 941 041 cap 4
beam length adjustment
page: 002 EPIS 474

et_bt2.frm



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:20 05.12.2006
GO 2007 9 41 941-40 Rabbit/GTI 597 USA ETKA
Pos Part Number Name Remarks Qty Model
halogen fog lamp
] (1) 1K0 941 699 C halogen fog lamp left 1
3 (1) 1K0 941 700 C halogen fog lamp right 1
4 (1) 1TO 941 699 D halogen fog lamp left 1 |GTI
I (1) 1TO 941 700 D halogen fog lamp right 1 |GTI
@ 2 N 090 294 1 tapping screw,fill.hd. (combi.) ST4,2X19-7Z2 6
@m/ (3)| N 101 300 01 |halogen bulb 12V55W HB4 | 2
2-%}” \ 4 + N 905 353 01 |speed nut 4,2X11 6
@ = turn signal side
10 1K0 949 101 turn signal left 1
(10) 1K0 949 102 turn signal right 1
11 1 set of securing parts
see illustration: 857-40
suround light side
15 1K0 945 291 suround light left 1
16 15 (15) 3CO0 945 292 suround light right 1
l | (16)| N 910 701 01 |bulb WeW-12V 2
10 %\ 17 N 105 358 01 | innensechsrund-senkschraube 3X10MM 2
| 11 .% ©
side marker light front
- 1K5 945 071 A side marker light left 1
- 1K5 945 072 A side marker light right 1
- + N 017 753 2 bulb W5W-12V 2
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 41 941-50 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
switch for lighting
(1) 1K0 941 333 D rheostat for instrument 1
lighting and headlight range
adjustment
06/06 REH | black/white
(1) 1KO 941 334 A rheostat for instrument 1
lighting
06/05-05/06REH | black/white
(1) 1KO 941 334 C rheostat for instrument 1
lighting
06/06 REH |black/white
(2) 1K0 941 431 F multiple switch for parking 1
and running lights
02/06-05/06REH |black/white 8K4
(2) 1KO0 941 431 T multiple switch for parking 1
and running lights
06/06 REH | black/white 8K4
(2) 1K0 941 431 G multiple switch f.side lights, 1
headlights and fog lights
02/06-05/06REH |black/white
(2) 1KO0 941 431 AA |multiple switch f.side lights, 1
headlights and fog lights
06/06 REH | black/white
switches in dashboard
(10) 1K0 919 234 B warning light for
deactivating
airbag
F >> 1K-6-150 220 1
(10)| 1KO 919 234 D |warning light for
deactivating
airbag
F 1K-6-150 221 1
13 1K0 919 237 A key switch for 1
deactivating airbag
with lock cylinder
06/05-11/059B9 | satin black
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 41 941-50 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
(13) 1K0 919 237 C |key switch for 1 (30) 1K0 907 044 BD |display and operating unit
deactivating airbag with control unit for electr.
with lock cylinder regulation air conditioner
as required use: 171 863 147
12/05 9B9 |satin black F 1K-6-099 001>> 1K-6-250 000* 1
15 1K0 953 509 A |emergency light botton 1 (30) 1K0 907 044 BH |display and operating unit front
with control unit for electr.
regulation air conditioner
F 1K-6-250 001>>%* 1
switches in console
(30) 1K0 907 044 BA |display and operating unit
20 1K0 927 117 A |button for electronic 1 with control unit for electr.
satbility program -esp- regulation air conditioner
for vehicles with heated seat
06/05-05/06REH |black/white as required use: 171 863 147
F >> 1K-6-099 000 1
(20) 1K0 927 117 C |button for electronic 1
satbility program -esp- (30) 1K0 907 044 BE |display and operating unit
with control unit for electr.
06/06 REH |black/white regulation air conditioner
for vehicles with heated seat
as required use: 171 863 147
F 1K-6-099 001>> 1K-6-250 000* 1
blind cover
(30) 1K0 907 044 BJ |display and operating unit
23 1K0 959 623 B |blind cover X with control unit for electr.
regulation air conditioner
06/05 3X1 |black for vehicles with heated seat
F 1K-6-250 001>>%* 1
24 1K0 959 624 blind cover 1
warning light for (30) 1K0 907 044 BB |display and operating unit
deactivating with control unit for electr.
airbag regulation air conditioner
for vehicles with stat.heater
06/05 9B9 |satin black with radio controlled remote
as required use: 171 863 147
25 2K0 959 623 blind cover 1 F >> 1K-6-099 000 1
key switch for
deactivating airbag (30) 1K0 907 044 BF |display and operating unit
with lock cylinder with control unit for electr.
regulation air conditioner
06/05 9B9 |satin black for vehicles with stat.heater
with radio controlled remote
as required use: 171 863 147
F 1K-6-250 000>>%* 1
display and operating unit
with control unit for electr. (30) 1K0 907 044 BK |display and operating unit
regulation air conditioner with control unit for electr.
regulation air conditioner
(30) 1K0 907 044 AT |display and operating unit for vehicles with stat.heater
with control unit for electr. with radio controlled remote
regulation air conditioner F 1K-6-250 001>>* 1
as required use: 171 863 147
F >> 1K-6-099 000 1
page: 002 EPIS 474



Model Year

GO 2007

MG SG Illustration

9 41 941-50

Restrictions

Rabbit/GTI

UPD

597

18:21

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks Qty

Model

Pos

Part Number

Name

Remarks

oty

Model

(30)

(30)

1K0 907 044 BC

1KO0 907 044 BG

1K0 907 044 BL

1K0 907 539 C

1K0 907 539 D

N 910 276 01

display and operating unit
with control unit for electr.
regulation air conditioner
for vehicles with stat.heater
with radio controlled remote
and heated seat

as required use:
F >> 1K-6-099 000

display and operating unit
with control unit for electr.
regulation air conditioner
for vehicles with stat.heater
with radio controlled remote
and heated seat

as required use:
F >> 1K-6-250 000%*

display and operating unit
with control unit for electr.
regulation air conditioner
for vehicles with stat.heater
with radio controlled remote
and heated seat

F 1K-6-250 001>>*

sun sensor
F >> 1K-6-131 000

sun sensor
F 1K-6-131 001>>

innensechsrund-blechschraube

171 863 147

171 863 147

ST4,2X45.0 R X

et_bt2.frm

page: 003

EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
ETKA
GO 2007 9 45 945-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
taillight inner
(1) 1K6 945 094 E taillight with back-up right inner 1
light SEIMA/AL
(1) 1K6 945 093 F taillight with back-up left inner 1
light SEIMA/AL
taillight outer
F >> 1K-6-100 000%*
(2) 1K6 945 095 A taillight left outer 1
(2) 1K6 945 096 A taillight right outer 1
taillight outer
F 1K-6-100 001>>%*
(2) 1K6 945 095 M taillight left outer 1
(2) 1K6 945 096 M taillight right outer 1
single parts
3 1K6 945 257 bulb holder left 1
for bulb: N 017 732 2
(3) 1K6 945 258 bulb holder right 1
for bulb: N 017 732 2
4 1K6 945 259 bulb holder 2
for bulb: N 017 732 2
5 1K6 945 191 gasket left 1
(5) 1K6 945 192 gasket right 1
6 1K6 998 191 gasket set 2
7 N 017 732 2 bulb P21W12V21W 6
9 N 011 006 24 |hex. nut M6 4
10 N 011 547 6 washer A6,5X14X1,6 4
11 WHT 000 071 shouldered hex. nut plastic M6 4
12 5MO0 945 167 adjustment part
F 1K-6-100 001>>* 2
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 45 945-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
13 1K6 998 215 spacer left
F >> 1K-6-100 000%* 1
(13) 1K6 998 216 spacer right
F >> 1K-6-100 000%* 1
additional brake light
16 1K6 945 097 E |additional brake light 1
17 N 102 589 01 |bolt, hex. hd. (combi.) M4X12 2
license plate light
21 + N 017 725 2 bulb L12V5W 2
22 N 902 357 01 |tapping screw 3,9X9,5 4
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 45 945-50 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
switch - brake light
(1) 3B0 945 511 C switch - brake light 4 pin 1
housing color: black
switch for
glove box light
(4) 1KO0 947 561 switch 1
glove box
switch for hand brake warning
light
5 1J0 947 561 C switch 1
cam position sensor (hall sens)
clutch pedal
(25) 1K0 927 810 D cam position sensor (hall sens) 1
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 47 947-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
interior and reading light front
F >> 1K-6-250 000%*
(1) 1K0 947 105 G interior and reading light PR-8S4
for vehs. with 2 reading light
front and 2 rear
also to be used for: 1K0 947 105 J
1KO 947 105 L
06/05-05/06TXJ | anthracite/chrome silk -1G,RZ,TK, IK 1
1 1KO 947 106 interior and reading light OLSA PR-854
for vehicles with sliding roof
and 2 reading lamps in front
and 2 in back
also to be used for: 1K0 947 105 F
1KO 947 105 H
06/05-05/06TXJ | anthracite/chrome silk -1G,RZ,TK, IK 1 |GTI
interior and reading light rear
F >> 1K-6-250 000%*
(5) 3C0 947 291 C reading light PR-8S4
for vehs. with 2 reading light
front and 2 rear
07/05-05/0671N | anthracite -1G,RZ,TK, IK 1
single parts for interior front and rear
and reading light
F >> 1K-6-250 000%*
10 3B7 919 039 socket for bulb 1
(15) 3CO0 947 133 A bezel with lens and rear
reflector
for vehs. with 2 reading light
front and 2 rear
only for: 3C0 947 291 C
06/05-05/0671N | anthracite -IG,RZ,TK, IK 1 |GTI
(17) 1KO 947 125 J lens for interior light front PR-854
for vehs. with 2 reading light OLSA
front and 2 rear
only for: 1K0 947 105 F
1K0 947 105 G
1KO0 947 106
06/05-05/063Q7 | aluminium 1
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 47 947-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
(17) 1K0 947 125 K |lens for interior light front PR-8S4 glove box light
for vehs. with 2 reading light FER footwell light
front and 2 rear F >> 1K-6-250 000*
only for: 1K0 947 105 H
1K0 947 105 J 40 6L0 947 415 light clear glass 3
06/05-05/063Q7 |aluminium 1 41 + N 017 753 2 bulb W5W-12V 3
20 1K0 947 133 trim front PR-8S4
for vehs. with 2 reading light OLSA
front and 2 rear luggage compartment light
only for: 1K0 947 105 F F >> 1K-6-250 000%*
1KO0 947 105 G
45 7L6 947 101 A light clear glass 1
06/05-05/06TXJ |anthracite/chrome silk -1G,RZ,TK, IK 1 [GTI
46 N 017 723 4 bulb K12V10W 1
(20) 1K0 947 133 A |trim front PR-8S4
for vehs. with 2 reading light FER
front and 2 rear
only for: 1K0 947 105 H reflector
1KO0 947 105 J F >> 1K-6-250 000%*
06/05-05/06TXJ |anthracite/chrome silk -1G,RZ,TK, IK 1 |GTI (50) 1KO 947 419 A reflector X
24 N 105 496 01 |screw, thread cutting 4X16-Q X
25 + N 017 753 2 bulb W5W-12V 5
26 N 910 080 01 |bulb Cl2V1O0owW 1
30 1KO0 959 613 potentiometer
for vehicles with sliding roof
06/05-05/06REJ |anthracite/white -IG,RZ,TK, IK 1 |GTI
(30) 1K0 959 613 A |potentiometer
for vehicles with sliding roof
05/06-05/06REJ |anthracite/white -I1G,RZ,TK, IK 1 |GTI
31 130 973 119 flat contact housing 2 pin 1
make-up light
F >> 1K-6-250 000*
35 1K0 947 109 light
06/05-05/0671N |anthracite -IG,RZ,TK, IK 2 |GTI
36 + N 017 725 2 bulb L12V5W 2
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 47 947-05 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
interior and reading light front
F 1K-7-000 001>>*
(1) 1KO0 947 105 T interior and reading light
for vehs. with 2 reading light
front and 2 rear
to be used for: 1K0 947 105 R
1KO0 947 105 AE
06/06 WRC |pearl grey/chrome matt silk -GB,GC,HA,HB, 1
HC,HE, HQ, HR,
JB,Js,JdT, KG,
KH, KU, KV, MQ,
MR,RS, TG, TM,
TS,UL,UM, VT,
WT,XF, XL, YG,
Z5,2T,28,29,
RT
06/06 WRD | anthracite/chrome silk -1G,IK,IR,RZ, 1
TK
(1) 1K0 947 106 E interior and reading light
for vehicles with sliding roof
and 2 reading lamps in front
and 2 in back
to be used for: 1KO0 947 105 Q
1K0 947 105 S
1K0 947 105 AD
06/06 WRC |pearl grey/chrome matt silk -GB,GC,HA,HB, 1
HC,HE, HQ, HR,
JB,JsS,JdT, KG,
KH, KU, KV, MQ,
MR, RS, TG, TM,
TS,UL,UM, VT,
WT, XF, XL, YG,
Zs,2T,28,29,
RT
06/06 WRD | anthracite/chrome silk -1G, IK, IR,RZ, 1
TK
interior and reading light rear
F 1K-7-000 001>>%*
(5) 3C0 947 291 C reading light PR-85S4
for vehs. with 2 reading light
front and 2 rear
page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 47 947-05 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
06/06 Y20 |pearl grey -GB,GC,HA,HB, 1 20 1KO0 947 133 D trim front PR-8S4
HC,HE,HQ, HR, for vehs. with 2 reading light OLSA
JB,Js,JT, KG, front and 2 rear
KH, KU, KV, MQ, only for: 1KO 947 105 R
MR,RS,RT, TG, 1K0 947 105 Q
T™™, TS, UL, UM, 1K0 947 106 AF
VT,WT, XF, XL,
YG, Zs, 72T, 28, 06/06 Y20 | pearl grey -GB, GC, HA, HB, 1
28 HC,HE, HQ, HR,
JB,Jds,JT, KG,
06/06 71N |anthracite -IG,IK, IR,RZ, 1 KH, KU, KV, MQ,
TK MR, RS,RT, TG,
™, TS, UL, UM,
VT, WT, XF, XL,
YG, ZSs, 2T, 28,
single parts for interior front and rear 28
and reading light
F 1K-7-000 001>>* 06/06 71N | anthracite -IG,RZ,TK, IK 1 |GTI
10 3B7 919 039 socket for bulb 1 (20) 1K0 947 133 E trim front
for vehs. with 2 reading light FER
(15) 3C0 947 133 A |bezel with lens and rear front and 2 rear
reflector only for: 1K0 947 105 T
for vehs. with 2 reading light 1K0 947 105 S
front and 2 rear
only for: 3C0 947 291 C 06/06 Y20 | pearl grey -GB,GC,HA,HB, 1
HC,HE, HQ, HR,
06/06 Y20 |pearl grey -GB, GC, HA, HB, 1 JB,Js,JdT, KG,
HC,HE, HQ, HR, KH, KU, KV, MQ,
JB,Js,JT, KG, MR,RS,RT, TG,
KH, KU, KV, MQ, ™, TS, UL, UM,
MR,RS,RT, TG, VT,WT, XF, XL,
T™, TS, UL, UM, YG, ZS, 2T, 28,
VT, WT, XF, XL, 28
YG, ZSs, 2T, 28,
28 06/06 71N | anthracite -IG,RZ,TK, IK 1 |GTI
06/06 71N |anthracite -IG,RZ,TK, IK 1 |GTI 24 N 105 496 01 |screw, thread cutting 4X16-Q X
(17) 1K0 947 125 J |lens for interior light front 1 |PR-8S4 25 + N 017 753 2 bulb W5W-12V 5
for vehs. with 2 reading light OLSA
front and 2 rear 26 not a spare part for this
only for: 1K0 947 105 R model
1KO0 947 105 Q
1K0 947 106 AF 30 1KO 959 613 A potentiometer
for vehicles with sliding roof
06/06 3Q7 |aluminium
06/06 REJ | anthracite/white -IG, IK, IR,RZ, 1 |GTI
(17) 1K0 947 125 K |lens for interior light front 1 |PR-8S4 TK
for vehs. with 2 reading light FER
front and 2 rear
only for: 1K0 947 105 T
1KO 947 105 S
06/06 3Q7 |aluminium
et_bt2.frm page: 002 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 47 947-05 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
06/06 2EN |pearl grey -GB, GC,HA,HB, 1
HC,HE, HQ, HR,
JB,Js,JdT, KG,
KH, KU, KV, MQ,
MR, RS,RT, TG,
T™™, TS, UL, UM,
VT,WT, XF, XL,
YG, Zs, 72T, 28,
28
31 1J0 973 119 flat contact housing 2 pin 1
make-up light
F 1K-7-000 001>>%*
35 1KO0 947 109 light
06/06 7G8 |beige -HS,KJ, KW, MU, 2
TH, TN, UN
06/06 71N |anthracite -IG,RZ,TK, IK 2 |GTI
36 N 017 725 2 bulb L12V5W 2
glove box light
footwell 1light
F 1K-7-000 001l>>%*
(40) 7L0 947 415 light clear glass 3
41 N 017 752 2 bulb W3W-12V 3
luggage compartment light
F 1K-7-000 001l>>%*
45 7L6 947 101 A |light clear glass 1
46 N 017 723 4 bulb K12V10wW 1
reflector
F 1K-7-000 001>>*
(50) 1KO0 947 419 A |reflector X
page: 003 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:21 05.12.2006
GO 2007 9 51 951-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
. fanfare horn BOSCH
//© [ attachment bolt M8
Q /. —6 (1)| 1KO0 951 221 A |fanfare horn low tone 1
M8
L-
33— / (2)| 1kK0 951 223 A |fanfare horn high tone 1
M8
\,_5 (3) 1KO0 951 182 H bracket high tone 1
\ 8MM
(= (3) 1K0 951 182 K |bracket high tone 1
8MM
(4) 1K0 951 182 G bracket low tone 1
8MM
(5) N 011 018 9 hex. nut M8 2
6 N 019 538 2 bolt, hex. hd. with shoulder M8X18 2
—1
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 51 951-20 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
anti-theft alarm system
25 1HM 951 115 D horn for anti-theft alarm 1
system
26 1K5 951 217 bracket 1
27 1KO0 971 739 B clip 1
28 N 019 538 6 bolt, hex. hd. with shoulder M8X18 1
29 N 907 057 02 |rivetted cap nut M6/0,7-3-A 2
30 N 909 803 03 |sheer bolt, self-locking M6X12MK 2
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 53 953-50 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
steering col. combi switch
1 1K0 953 519 switch for wipers/wash-wipe 1
operation
06/05 9B9 | satin black
(1) 1K0 953 519 A switch for windshield wipper, 1
wipers and washer and multi
function indicatoroperating
06/05 9B9 | satin black
(2) 1K0 953 513 switch for turn signals, 1
high and low beams, headlamp
flasher and parking light
06/05 9B9 | satin black
(2) 8P0 953 513 switch for turn signals, 1
high and low beams, headlamp
flasher, parking light and
cruise control system
02/06 9B9 | satin black
3 1KO 905 141 switch bracket 1
4 1K0 959 653 C cancelling ring with slip 1
ring
5 1K0 959 654 steering sensor 1
6 1K0 953 549 AK |electronic modul for steering 1
| col. combination switch
6 7 N 910 753 01 | innensechsrund-blechschraube 2,5X10 2
steering lock
ignition starter switch
10 1K0 905 865 ignition starter switch 1
(11) 1K0 905 841 steering column lock with 1
ignition switch and adapter
wiring harness
12 N 905 845 02 | sheer bolt M8X20 2
(13) 1K0 953 527 B catch 1 |6 speed-
automatic
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 53 953-50 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
14 |f 107 905 855 CD |lock cylinder for ignition HUF 1 (26) 1K0 951 527 B pushbutton for tiptronic left 1 |GTI
starter switch with read coil,
without key 06/06 REH |black/white
* to retain the one key
* system the key code (26) 1K0 951 528 A |pushbutton for tiptronic right 1 |GTI
* number and/or vehicle
* ident.number (vin) must 06/05-05/06REH |black/white
* be quoted when ordering
(26) 1K0 951 528 B pushbutton for tiptronic right 1 |GTI
15 1T0 905 855 ignition/starter switch lock 1
cyl. with reading coil 06/06 REH | black/white
20 1K0 905 869 trim 1 (28) 3CO0 959 542 control unit for multi- 1 |GTI
function steering wheel
06/05 9B9 |satin black
35 N 909 680 01 |screw, thread cutting 4X10-R 2
22 1K0 979 416 wiring harness adapter for 1
steering column lock
switch for multifunction
steering wheel
(25) 3C0 959 537 B |switch for radio and telephone left 1 |GTI
remote control
06/05 REH |black/white
(25) 1K0 959 537 E |multiple switch without left 1 |GTI
operating possibility
06/05-05/06REH |black/white
(25)| 1KO 959 537 H |multiple switch without left 1 |GTI
operating possibility
06/06 REH |black/white
(25) 3CO0 959 538 C |multiple switch for multi- right 1 |GTI
function display
06/05 REH |black/white
(25) 1K0 959 538 B |multiple switch without right 1 |GTI
operating possibility
06/05-05/06REH |black/white
(25) 1K0 959 538 E |multiple switch without right 1 |GTI
operating possibility
06/06 REH |black/white
(26) 1K0 951 527 A |pushbutton for tiptronic left 1 |GTI
06/05-05/06REH |black/white
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 55 955-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
base, windshield wiper
wiper motor
1 1K1 955 119 C wiper motor without 1lhd
crank
F >> 1K-6-250 000* 1
as required use: 1J0 973 724 1
(1) 1K1 955 119 E wiper motor without 1hd
crank
F 1K-7-000 001>>%* 1
as required use: 1J0 973 724 1
- 1J0 973 724 flat contact housing 4 pin 1
2 1J0 955 205 A cap 2
06/05-04/0601C | satin black
F >> 1K-6-190 000*
3 1KO0 955 493 A grommet 1
4 1K1 955 601 windshield wiper bracket with 1hd 1
operating rod and crank arm
5 1K1 955 623 A bracket 1hd 1
- 1K1 955 633 A holder for windscreen wiper 1hd 1
mounting
see illustration: 805-00
- N 100 053 06 |bolt, hex. hd. (combi.) M6X12-S1 2
see illustration: 805-00
6 N 900 744 01 |hex. nut, self-locking
7 1TO0 998 754 1 set of securing parts
aero-wiper arm "TOP LOCK"
aero-wiper blade
F 1K-6B063 001>>%*
F 1K-6P017 001>>%*
F 1K-6U010 001>>%*
F 1K-6W063 001>>%*
(8) 1Q1 955 409 aero-wiper arm 1hd 1
11/05 03C |rally black
(drivers side)
(8) 1Q1 955 410 aero-wiper arm 1hd 1
11/05 03C |rally black
(passenger side)
page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 55 955-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
(10) 1Q1 955 425 aero-wiper blade lhd | 1
11/05 03C |rally black
(drivers side) 600MM BOSCH
(10) 1Q1 955 426 aero-wiper blade 1hd 1
11/05 03C |rally black
(passenger side) 475MM BOSCH
rain sensor
15 1K0 955 559 T |rain sensor 1
F >> 1K-6-250 000*
(15) 1K0 955 559 AB |rain sensor 1
F 1K-7-000 001>>*
16 1CO0 973 119 flat contact housing 3 pin 1
et_bt2.frm page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 55 955-10 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
windshield washer unit
30— Qggﬁzzzb 1 1K0 955 453 S fluid container 5,51ltr. 1
é;;) (Z?) as required use: |7MO 919 382
25 |%® 8EO 955 465 A
i 33 | i 431 955 465 A
@ 31 ) 444 955 647
| 25 33 NS l?@mm%\
29 27 3 || P 2 | 1K6 955 453 H |fluid container 3.6ltr. 1 |PR-9M1,9M9
6é§> | 3133 25 for vehicles with stationary
| 32 - heater
| 28 - as required use: 7MO0 919 382
8EO0 955 465 A
431 955 465 A
444 955 647
5 7MO0 919 376 water level switch 1
(5)| 8E0 955 465 A |plug 1
6 7MO 919 382 sealing washer 1
7 1K0 955 455 sealing cap 1
8 1C0 955 485 strainer 1
10 1K6 955 651 pump 1
for vehicles with wipe-wash
system for rear window
11 443 955 465 gasket 12X6,5 1
12 3B7 955 681 pump 1
for vehicles with headlight
washer system
as required use: N 903 038 01 1
- N 903 038 01 |round seal 9X1,5 1
to be used for: 3B7 955 681
13 431 955 465 A gasket 20,2X9,5 1
14 444 955 647 plug 1
15 N 101 602 05 |bolt, hex. hd. with shoulder M6X25 1
16 N 103 210 01 |bolt, hex. hd., M6X16MK X
self-locking
17 N 908 877 01 |clamping nut M6 2
20 5M0O 955 985 A spray jet 2
06/05-08/069B9 | satin black
(20) 5M0 955 986 A |heated spraying jet 2
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
ETKA
GO 2007 9 55 955-10 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
06/05-08/069B9 |satin black
25 1J0 955 751 D corrugated pipe 6X0,75X10000MM *
to fit use workshop material
26 3B0 955 665 C elbow 6X1 4
27 1J0 955 873 D |y-piece 1
28 1J0 955 875 P |coupling piece black X
29 1J0 955 875 R |coupling piece black X
30 1J0 955 998 C |grommet 1
31 2D0 955 962 hose 3,8X2,1X1300MM *
to fit use workshop material
32 000 979 992 1 set of shrink fit sleeves 12MM/4MM X
can be welded watertight
contents of package: 8 STK
(33)+ N 020 902 2 tie wrap 3,6X246 X
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 55 955-25 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
wiper and washer system for
rear window
1 6Q6 955 425 A aero-wiper blade 1
2 6Q6 955 707 B aero-wiper arm 1
3 N 106 092 04 |shouldered hex. nut M8 1
4 6Q6 955 435 B cap 1
5 6Q6 955 758 gasket 1
6 1K6 955 711 B wiper motor rear 1
7 3B9 955 985 A spray jet 1
8 3B9 998 754 1 set of bushings 1
for wiper motor: |rear
9 N 907 143 03 |hex. nut with washer M6 3
15 3B0 955 875 coupling piece 6X1 1
16 N 020 902 2 tie wrap 3,6X246 X
17 2D0 955 962 hose 3,8X2,1X1300MM *
to fit use workshop material
18 1J0 955 751 D corrugated pipe 6X0,75X10000MM *
to fit use workshop material
21 1J0 955 875 R coupling piece 5X1 X
22 1J0 955 875 P coupling piece 5X1 2
24 3B0 955 665 C elbow 6X1 X
23
16 | _acN 25 | 1K6 955 651 pump 1
17 ¥
16 [ ‘ 26 | 000 979 992 1 set of shrink fit sleeves 12MM/4MM X
7 22 | can be welded watertight
i 21
( ‘ 16 ! ka@
' 17 |
16 |
|
& 16 | 118 %
25 :
| ﬁ*” |
g—16 | ﬁ
— 24 L~
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 55 955-30 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
headlight washer system
1 1K6 955 103 jet carrier with jet left 1
(1) 1K6 955 104 jet carrier with jet right 1
(2) 1K5 955 109 A cap left 1 |GTI
06/05 GRU | primed
(2) 1K5 955 110 A cap right 1 |GTI
06/05 GRU | primed
4 1K5 955 978 pressure cylinder 2 |GTI
(4) 1K6 955 978 A |pressure cylinder 2
5 N 909 591 01 | speed nut 5X16,5X11 2
6 N 103 546 02 | innensechsrund-blechschraube 5X167Z2 2
10 1K0 955 453 S fluid container 5,51ltr. 1
as required use: 7MO 919 382
8EO0 955 465 A
431 955 465 A
444 955 647
11 1K6 955 453 H fluid container 3.61tr. 1 |PR-9M1, 9M9
as required use: 7MO 919 382
8EO0 955 465 A
431 955 465 A
444 955 647
12 1TO 955 665 adapter
for vehicles with stationary 1
heater
for vehicles with auxiliary 1
heater
15 7M0 919 376 water level switch 1
16 7MO 919 382 sealing washer 1
17 1KO 955 455 sealing cap 54MM 1
19 1K6 955 651 pump 1
for vehicles with wipe-wash
system for rear window
20 443 955 465 gasket 12X6,5 1
21 3B7 955 681 pump 1
headlight washer system
as required use: N 903 038 01 1
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 55 955-30 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
- N 903 038 01 |round seal 9X1,5 1
to be used for: 3B7 955 681

22 431 955 465 A |gasket 20,2X9,5 1
23 N 101 602 05 |bolt, hex. hd. with shoulder M6X25 1
24 N 103 210 01 |bolt, hex. hd., M6X16MK X

self-locking
25 N 908 877 01 |clamping nut M6 2
30 1J0 955 964 F |hose in coils of 5m S10X3 *

'order gty. 5'

to fit use workshop material
31 1J0 955 665 A elbow 1 |GTI
32 1J0 955 665 E |connecting piece 2 |GTI

(90)
(33) 1TO 955 975 distributor piece 1 |GTI
35 3D0 971 838 E tie wrap with socket 4,6X200 1
36 1J0 955 846 clip 17,5 8
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 59 959-05 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
switches in door trim panel
(1) 1K0 959 565 F switch for electrically 1
operated rear view mirror
with mirror heating
option
06/05-05/06REH | black/white
(1) 1K0 959 565 H switch for electrically 1
operated rear view mirror
with mirror heating
option
06/06 REH | black/white
(1) 1K0 959 565 G switch for interior mirror 1
electric adjustment,
heated and fold-up feature
06/05-05/06REH | black/white 1
(1) 1K0 959 565 J switch for interior mirror 1
electric adjustment,
heated and fold-up feature
06/06 REH | black/white 1
2 7L6 959 833 A button for electrically 1 |PR-4EOQ
operated flap for fuel
filler
06/05 REH | black/white
(2) 1K0 959 903 press button switch for elec- 1 |PR-4E2
trical operated flap and fuel
filler flap operation
06/05-07/06REH |black/white
5 1F0 959 855 switch for electric rear 2
windows front 1
06/05 REH |black/white
(10) 1K3 959 857 switch for electric front 1
windows 2 doors
(drivers side)
06/05 REH | black/white
(10) 1K3 959 857 switch for electric front 1 |PR-4R5
windows 4-door
(drivers side)
06/05 REH | black/white
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:22 05.12.2006
GO 2007 9 59 959-05 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
10 1K4 959 857 switch for electric front and rear | 1
windows
(drivers side)
06/05 REH |black/white
(15) 1K0 962 125 safety switch for central lhd | 1
locking system
06/05-05/06REH |black/white
(15) 1K0 962 125 B |safety switch for central 1lhd 1
locking system
06/06 WHS |satin black/white
(15) 1K0 962 126 safety switch for central lhd | 1
locking system
for vehicles with keyless-
entry
06/05 REH |black/white
switch for seat and backrest
adjustment
sliding roof motor
50 8D0 959 591 C sliding roof motor ROCKWELL-GOLDE 1
BOSCH
51 N 103 063 01 |screw, csk. hd. M5X40 2
page: 002 EPIS 474



Model

GO

Year

2007

MG

SG

59

Illustration

959-10

Restrictions

Rabbit/GTI

UPD

597

18:23 05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

1KO 959 433 AL

1KO 959 433 AS

1KO 959 433 AM

1KO 959 433 AT

1K0 959 433 BR

1KO 959 433 CL

1KO 959 701 L

06/05-11/05202
06/05-11/05201

1K0 959 701 L

11/05 AQ2

11/05 A0l

central electronic control
unit for comfort system

central electronic control
unit for comfort system

central electronic control
unit for comfort system

central electronic control
unit for comfort system

central electronic control
unit for comfort system

central electronic control
unit for comfort system

>> 1K-6B090 496*
>> 1K-6P018 449%*
>> 1K-6U017 039*
>> 1K-6W099 001*

LR e e

central electronic control
unit for comfort system

F 1K-6B090 497>>%*

F 1K-6P018 450>>*

F 1K-6U017 040>>%*

F 1K-6W099 002>>*

window lifter motor

window lifter motor

* order only with color code *
>> 1K-6B077 483%*
>> 1K-6P017 160%*
>> 1K-6U014 211%*
>> 1K-6W084 884+*

el e B

window lifter motor
window lifter motor

window lifter motor

order only with color code *
1K-6B077 484>>%*

1K-6P017 161>>%*

1K-6U014 212>>%*

1K-6W084 885>>%*

e e e e B

window lifter motor

window lifter motor

2 doors

2 doors

4-door

4-door

driver's door

4 doors 1hd

2 doors 1hd

4 doors 1lhd

2 doors 1hd

PR-5D2,5D3,
5D5+9Q0, 901

PR-5D2,5D3+
9Q5

PR-5D2,5D3,
5D5+9Q0, 901

PR-5D2,5D3+
9Q5

PR-5D2,5D3,
5D5+7K4

PR-5D2,5D3,
5D5+7K4

et_btl.frm

page: 001

EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 59 959-10 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
window lifter motor passenger door
6 1K0 959 702 L |window lifter motor
* order only with color code *
F >> 1K-6B077 483%*
F >> 1K-6P017 160%*
F >> 1K-6U014 211~%*
F >> 1K-6W084 884%*
06/05-11/05202 |window lifter motor 4 doors l1hd | 1
06/05-11/05201 |window lifter motor 2 doors lhd | 1
(6) 1K0 959 702 L |window lifter motor
* order only with color code *
F 1K-6B077 484>>*
F 1K-6P017 161>>%*
F 1K-6U014 212>>*
F 1K-6W084 885>>*
11/05 A02 |window lifter motor 4 doors 1hd 1
11/05 A01 |window lifter motor 2 doors 1hd 1
window lifter motor rear door
7 1K0 959 703 F |window lifter motor left
* order only with color code *
06/05 L05 |window lifter motor 1
8 1K0 959 704 F |window lifter motor right
* order only with color code *
06/05 L05 |window lifter motor 1
single parts
9 1K1 907 348 A |bracket 1
11 N 902 158 02 |hex. nut M6SB 2
13 1J0 959 821 innensechsrund-zylinderblech- 6X15
schraube 2 doors 3
4-door 6
17 1K1 971 262 D bracket 1lhd 1
page: 002 EPIS 474

et_bt2.frm



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 59 959-38 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
electric parts for airbag PR-4X3,4X4
(1) 1K0 909 605 P air bag control module
for vehicles with front
side airbag
02/06-05/0605L |driver, passenger, side and 1 |PR-4X3+9P7+
head airbag control module Jlp,J1L,J0L,
and the possibility of J1D, JON
deactivation the front
passenger airbag
02/06-05/0605M | driver, passenger, side and 1 |PR-4X3+9P6+
head airbag control module Jlp,J1L,J0L,
and the possibility of J1D, JON
deactivation the front
passenger airbag
02/06-05/0605Q |driver, passenger, side and 1 |PR-4X4+9P7+
head airbag control module J1lp,J1L,J0L,
and the possibility of J1D, JON
deactivation the front
passenger airbag
02/06-05/0605R | driver, passenger, side and 1 |PR-4X4+9P6+
head airbag control module J1P,J1L,J0L,
and the possibility of J1D, JON
deactivation the front
passenger airbag
02/06-05/06061 |driver, passenger, side and 1 |PR-4X3+9P7+
head airbag control module J1N,JOR
and the possibility of
deactivation the front
passenger airbag
02/06-05/06062 |driver, passenger, side and 1 |PR-4X3+9P6+
head airbag control module J1N, JOR
and the possibility of
deactivation the front
passenger airbag
02/06-05/06065 | driver, passenger, side and 1 |PR-4X4+9P7+
head airbag control module J1N,JOR
and the possibility of
deactivation the front
passenger airbag
02/06-05/06066 |driver, passenger, side and 1 |PR-4X4+9P6+
head airbag control module J1N,JOR
and the possibility of
deactivation the front
passenger airbag
(1) 1K0 909 605 Q air bag control module
for vehicles with front
side airbag
page: 001 EPIS 474




et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 59 959-38 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
06/06-07/0605L |driver, passenger, side and 1 |PR-4X3+9P7+ (1) 1K0 909 605 P air bag control module
head airbag control module Jlp,J1L,JOL,
and the possibility of J1D,JON 02/06-05/0605N | control unit for driver, 1 |PR-9P7+
deactivation the front passenger and head airbag J1P,J1L,J0L,
passenger airbag and passenger airbag J1D, JON
deactivation possibility
06/06-07/0605M |driver, passenger, side and 1 |PR-4X3+9P6+
head airbag control module J1P,J1L,J0L, 02/06-05/0605P | control unit for driver, 1 |PR-9P6+
and the possibility of J1D,JON passenger and head airbag Jlp,J1L,JoL,
deactivation the front and passenger airbag J1D, JON
passenger airbag deactivation possibility
06/06-07/0605Q |driver, passenger, side and 1 |PR-4X4+9P7+ 02/06-05/0605S |driver, passenger, side and PR-9P7+
head airbag control module Jlp,J1L,Jo0L, head airbag control module Jlp,J1L,J0L,
and the possibility of J1D,JON and the possibility of J1D, JON
deactivation the front deactivation the front
passenger airbag passenger airbag
06/06-07/0605R |driver, passenger, side and 1 |PR-4X4+9P6+ 02/06-05/0605T |driver, passenger, side and PR-9P6+
head airbag control module Jlp,J1L,J0L, head airbag control module J1lp,J1L,J0L,
and the possibility of J1D,JON and the possibility of J1D, JON
deactivation the front deactivation the front
passenger airbag passenger airbag
06/06-07/06061 |driver, passenger, side and 1 |PR-4X3+9P7+ 02/06-05/06063 | control unit for driver, 1 |PR-9P7+
head airbag control module J1N, JOR passenger and head airbag J1N, JOR
and the possibility of and passenger airbag
deactivation the front deactivation possibility
passenger airbag
02/06-05/06064 |driver, passenger, side and 1 |PR-9P6+
06/06-07/06062 |driver, passenger, side and 1 |PR-4X3+9P6+ head airbag control module J1N, JOR
head airbag control module J1N,JOR and the possibility of
and the possibility of deactivation the front
deactivation the front passenger airbag
passenger airbag
02/06-05/06067 |driver, passenger, side and 1 |PR-9P7+J1N,
06/06-07/06065 |driver, passenger, side and 1 |PR-4X4+9P7+ head airbag control module JOR
head airbag control module J1N,JOR and the possibility of
and the possibility of deactivation the front
deactivation the front passenger airbag
passenger airbag
02/06-05/06068 |driver, passenger, side and 1 |PR-9P6+J1N,
06/06-07/06066 |driver, passenger, side and 1 |PR-4X4+9P6+ head airbag control module JOR
head airbag control module J1N,JOR and the possibility of
and the possibility of deactivation the front
deactivation the front passenger airbag
passenger airbag
(1) 1K0 909 605 Q air bag control module
2 1K0 909 606 C |sensor for lateral impact rear 2
acceleration -crashsensor- 06/06-07/0605N | control unit for driver, 1 |PR-9P7+
passenger and head airbag Jlp,J1L,JOL,
3 1K0 955 557 A |thrust sensor 2 and passenger airbag J1D, JON
deactivation possibility
electric parts for airbag 1hd PR-6C0,6C1
page: 002 EPIS 474




Model Year

GO 2007

MG SG Illustration

9 59 959-38

Restrictions

Rabbit/GTI

UPD

597

18:23

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks Qty

Model

Pos

Part Number

Name

Remarks

oty

Model

10

12

14

15

16

06/06-07/0605P

06/06-07/0605S

06/06-07/0605T

06/06-07/06063

06/06-07/06064

06/06-07/06067

06/06-07/06068

1KO0 909 606 C

1K0 955 557 A

1K0 972 321

N 102 854 02

N 908 163 01

1J0 971 254 B

N 011 006 36

control unit for driver,
passenger and head airbag
and passenger airbag
deactivation possibility

driver, passenger, side and
head airbag control module
and the possibility of
deactivation the front
passenger airbag

driver, passenger, side and
head airbag control module
and the possibility of
deactivation the front
passenger airbag

control unit for driver,
passenger and head airbag
and passenger airbag
deactivation possibility

control unit for driver,
passenger and head airbag
and passenger airbag
deactivation possibility

driver, passenger, side and
head airbag control module
and the possibility of
deactivation the front
passenger airbag

control unit for driver,
passenger and head airbag
and passenger airbag
deactivation possibility

sensor for lateral impact
acceleration -crashsensor-

thrust sensor

single parts
bracket
innensechsrund-zyl.schraube

innensechsrund-linsenschraube
thrust sensor

cap nut

hex. nut

rear 2

1lhd 1
Mé6X15-CH 3

M6X18-W 4

M6 3

Mé 1

PR-9P6+
Jlp,J1L,J0L,
J1lD,JON

PR-9P7+
Jip,J1L,JO0L,
J1D,JON

PR-9P6+
Jip,J1L,JOL,
J1D,JON

PR-9P7+
J1N,JOR

PR-9P6+
J1N,JOR

PR-9P7+J1N,
JOR

PR-9P6+J1N,
JOR

et_bt2.frm

page: 003

EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 59 959-45 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
electrical parts for seat
and backrest adjustment
1 motor for seat adjustment for
longitudinal adjustment
see illustration: 881-10
2 backrestframe with motor for
backrest adjustment
see illustration: 881-50
5 1K0 959 111 motor for seat adjustment for left 1
height adjustment
as required use: 3B0 959 743
(5) 1K0 959 112 motor for seat adjustment for right 1
height adjustment
as required use: 3B0 959 743
6 drive unit for height PR-7P1
adjustment lumbar support
see illustration: 881-50/55
881-60/65
7 drive unit for longitudinal PR-7P1
adjustment lumbar support
see illustration: 881-50/55
881-60/65
15 backrestframe with motor for
backrest adjustment
see illustration: 885-50
20 7L0 959 761 A motor for seat adjustment for left 1
rake adjustment
as required use: 3B0 959 743
(20) 7L0 959 762 A |motor for seat adjustment for right 1
rake adjustment
as required use: 3B0 959 743
25 8EO0 959 777 switch for lumbar 1
adjustment
06/05 4PK | sabre (black)
35 3B0 959 743 flat contact housing with 4 pin X
helper contact catch black
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 59 959-55 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
electric fan
for vehicle use in cold and
moderate clima zones
(1) 1K0 959 455 N electric fan 300W 1 |BPY,BGP,BGQ
360MM SIEMENS
left
(1) 1K0 959 455 CQ |electric fan 300W 1 |BPY,BGP,BGQ
360MM TEMIC
left
2 1K0 959 455 DH |electric fan 200W 1 |BPY,BGP,BGQ
295MM SIEMENS
right
(2) 1K0 959 455 CR |electric fan 200W 1 |BPY,BGP, BGQ
295MM TEMIC
right
electric fan
for vehicle use in warm
countries
4 1 (1) 1K0 959 455 N electric fan 300W 1 |BPY,BGP,BGQ
360MM SIEMENS
A %J left
(1) 1K0 959 455 CQ |electric fan 300W 1 |BPY,BGP,BGQ
360MM TEMIC
left
7 (2) 1K0 959 455 DH |electric fan 200W 1 |BPY,BGP, BGQ
295MM SIEMENS
right
(2) 1K0 959 455 CR |electric fan 200W 1 |BPY,BGP,BGQ
295MM TEMIC
5 right
single parts
4 1J0 906 444 male blade terminal housing 4 pin 1
for electric fan: 1,3,4,6,7
5 1J0 973 752 flat contact housing 2 pin 1
black
for electric fan: 1,3,4
6 1J0 973 852 flat contact housing 2 pin 1
black
for electric fan: 2,5,8,9,10,12
10 N 908 877 01 |clamping nut M6 6
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 63 963-00 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
electrical parts for seat and
backrest heater
1 heater element-seat 2
see illustration: 881-00/881-10
/ 31\ 2 heater element-backrest 2
| see illustration: 881-50
%ﬁga 3 heater element-seat bolster 2
see illustration: 881-00/881-10
5 heater element-seat bolster left 2
see illustration: 881-00/881-10
- 6 heater element-seat bolster right 2
see illustration: 881-00/881-10
10 1K0 907 461 bracket left 1
16
(10) 1K0 907 462 bracket right 1
11 7L0 959 772 D heated seat
control module
F >> 1K-6B081 200%* 2
F >> 1K-6P018 000*
| F >> 1K-6U013 200%
\ 15 F >> 1K-6W565 000*
(11) 1Z0 959 772 A heated seat left
control module
F 1K-6B081 001>>*1K-6-620 000* 1
F 1K-6P018 001>>%*
F 1K-6U013 201>>%*
F 1K-6W565 001>>*
/ 6
%% N N (11)| 120 959 772 B |heated seat left
| ) control module
10 | 3 F 1K-6-620 001>>%* 1
20 15 2 15 3B0 972 722 female blade terminal housing 4 pin 2
I 16 (15) 3B0 972 722 female blade terminal housing 4 pin 2
—20 16 1J0 973 119 flat contact housing 2 pin 2
— 2] (16) 1J0 973 119 flat contact housing 2 pin 2
5 20 3D0 973 332 flat contact housing 3 pin 2
21 1C0O 973 119 flat contact housing 3 pin 2
page: 001 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 71 971-01 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
harness for manual
alternator transmission
BPY
(1) 1K0 971 230 LH |harness for 1
alternator
for vehicles with air condit.
harness for automatic+
alternator BPY
(1) 1KO 971 230 LM |harness for 1
alternator
harness for BGP, BGQ
alternator
(1) 1K0 971 230 JB |harness for 1
alternator
single parts
3 1J0 906 029 A bracket for connector housing 1
4 4B0 971 848 cable holder X
f. hole/sheet metal thickness: 6,5/0,6-3MM
5 030 971 921 angled protective cap 3 pin 1
6 1J0 973 702 flat contact housing 2 pin 1
black
7 1J0 973 772 flat connector housing with 2 pin 1
additional contact catch
(8) 1J0 973 702 A flat contact housing 2 pin 1
(9) 1J0 973 704 flat contact housing with 4 pin 1
helper contact catch black
10 N 906 661 01 |tie wrap 5X6,5 X
harness for battery +
(20) 1K0 971 228 L harness for battery + 1
(20) 1K0 971 228 M harness for battery + 1 |automatic
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:23 05.12.2006
GO 2007 9 71 971-01 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
battery harness -
30 1TO0 971 235 A |battery harness - 1
- 1K0 971 360 C |bracket 1
battery harness -
ground strap
40 1K0 971 250 ground strap 1 |manual
transmission
(40) 1K0 971 250 L |ground strap automatic
page: 002 EPIS 474



ETKA

Model
GO

Year

2007

MG

SG Illustration Restrictions

71 971-06 Rabbit/GTI

UPD
597

18:24 |

05.12.2006

USA

Pos

Part Number

Name

Remarks

Qty

Model

07K 972 619 G

07K 972 619 H

4EO0

07K

07K

07K

06A

1J0

130

3D0

972

971

971

971

973

973

973

973

479

824 C

824 D

824 B

722

081

702

703

harness for engine
harness for engine

harness for engine

single parts

corrug. tubes, t-pieces,
clips, holders, grommets,
cable ties, insulating
hose, wiring,

single wires and seals
see special catalogue:
electrical

connecting elements

oX % % ok ok % X

flat contact housing
connecting piece
control module - engine

wiring conduit
injector

wiring conduit
ignition coil with
spark plug connector

wiring conduit
knock sensor

flat contact housing with
helper contact catch
connecting piece

injector

flat contact housing
connecting piece
oil pressure switch

flat contact housing
connecting piece
temperature sender

for coolant temperature
gauge

knock sensor

thermostat

flat contact housing with
helper contact catch
connecting piece

impulse sender

camshaft

injector tube

40 pi

2 pin
black

1 pin
black

2 pin
black

cylin

3 pin
black

n

der 3,4

PR

BGP,BGQ

6 speed-
automatic

et _text.frm

page: 001

EPIS 474



ETKA

Model
GO

Year MG
2007 9

Restrictions

Rabbit/GTI

SG Illustration

71 971-06

UPD
597

18:24 |

05.12.2006

USA

Pos

Part Number

Name

Remarks

Qty

Model

3B0 973 703 G

1J0 973 703 B

1J0 973 704

1J0 973 713

1J0 973 722

8D0 973 822

4B0O 973 724

1J0 973 837

1HO 971 615 AB

07K 971 501

07K 971 804 A

flat contact housing with
helper contact catch
potentiometer

flat contact housing with
helper contact catch
knock sensor

flat contact housing with
helper contact catch
connecting piece

thrust sensor

intake manifold

flat contact housing
connecting piece
throttle valve positioner

flat contact housing with
helper contact catch
connecting piece
valve
intake manifold

counter part to:

flat contact housing

connecting piece
valve
intake manifold

flat contact housing with
helper contact catch
connecting piece

ignition coil with

spark plug connector

flat contact housing with
helper contact catch
coupling piece

harness for interior

single parts which do not
belong to the supply scope
of the wireing harness

cable holder
connecting piece
starter

bracket
connecting piece
starter

bracket
coupling piece
harness for
injectors

3 pin
black
cylinder 1,2

4 pin

6 pin
black

2 pin
black

8D0 973 822

2 pin
black

4 pin
black

14 pin

et _text.frm

page: 002

EPIS 474




ETKA

et _text.frm

Model Year MG SG lllustration Restrictions UPD 18:24 ‘ 05.12.2006
GO 2007 9 71 | 971-06 Rabbit/GTl 597 USA
Pos Part Number Name Remarks Qty Model

- 07K 971 804 B bracket 1

support

intake manifold
- 022 971 842 cable holder 1
- 03G 971 845 bracket for connector housing 1
- 1J0 906 029 A bracket for connector housing 1
- 07K 971 858 F retaining shell 1
- 07K 971 858 D bracket 1
- 07K 971 858 E bracket 1
- 1KO 971 909 B grommet 1

starter
- N 011 006 36 hex. nut M6 2
- N 011 008 40 hex. nut M8 1

page: 003 EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

971-11

Restrictions

Rabbit/GTI

UPD

597

18:24

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

06F 972 619 T

06F 972 619 AA

4A0

3Co

06F

030

6HO

4D0

1J0

1J0

820

906

971

971

971

971

973

973

199

379

824

921

921

992

081

702

harness for engine
harness for engine

harness for engine

single parts
harness for engine

* corrug. tubes, t-pieces,
* clips, holders, grommets,
* cable ties, insulating

* hose, wiring,

* gingle wires and seals

* gee special catalogue:

* electrical

* connecting elements

double tie wrap

flat contact housing
connecting piece
control module - engine

wiring conduit
ignition coil with
spark plug connector

angled protective cap
temperature sensor
intake manifold

protective cap
connecting piece
camshaft adjuster unit

flat connector housing with
additional contact catch
connecting piece

fuel cut-off valve

flat contact housing
connecting piece
0il pressure switch

flat contact housing
connecting piece
temperature sender

for coolant temperature
gauge

camshaft adjuster unit
temperature sensor
intake manifold

7X213/140MM

60 pin

3 pin

2 pin
black/blue

1 pin
black

2 pin
black

P

BPY

automatic

et_btl.frm

page: 001

EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:24 05.12.2006
GO 2007 9 71 971-11 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
9A 1J0 973 703 flat contact housing with 3 pin 1 17 4B0 973 724 flat contact housing with 4 pin 4
helper contact catch black helper contact catch black
connecting piece connecting piece
pressure watch ignition coil with
injector tube spark plug connector
10 130 973 703 B |flat contact housing with 3 pin 1 18 8D0 973 734 flat contact housing 8 pin 1
helper contact catch black coupling piece black
connecting piece harness for
knock sensor injectors
(10) 3B0 973 703 A |flat contact housing with 3 pin 1 19 1J0 973 837 flat contact housing with 14 pin 1
helper contact catch brown helper contact catch
connecting piece coupling piece
knock sensor harness for interior
12 1J0 973 704 flat contact housing with 4 pin 1
helper contact catch
connecting piece harness for
thrust sensor injectors
intake manifold
(30) 06F 971 082 harness 1
13 1J0 973 705 flat contact housing with 5 pin 1
helper contact catch
connecting piece
throttle valve positioner single parts
harness for
14 130 973 713 flat contact housing 6 pin 1 injectors
connecting piece black
throttle valve positioner (31) 06F 971 824 wiring conduit 1
15 1J0 973 713 flat contact housing 6 pin X 32 4D0 971 992 flat connector housing with 2 pin 4
coupling piece black additional contact catch black/violet
adapter wiring harness 1 connecting piece
impulse sender 1 injector
camshaft
(32) 1J0 973 703 flat contact housing with 3 pin 1
15A| 1J0 973 722 flat contact housing with 2 pin X helper contact catch black
helper contact catch black connecting piece
connecting piece impulse sender
valve camshaft
intake manifold 1
activated carbon filter system 1 33 8D0 973 834 flat contact housing 8 pin 1
coupling piece black
16A| 1J0 973 722 A |flat contact housing with 2 pin 1 harness for engine
helper contact catch black
connecting piece (33) 3B0 973 813 flat connector housing with 6 pin 1
bypass air cut-off wvalve additional contact catch
16 130 973 723 G |flat contact housing 3 pin 1
connecting piece grey
engine speed sensor (rpm) single parts which do not
belong to the supply scope
of the wireing harness
page: 002 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:24 05.12.2006
GO 2007 9 71 971-11 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
40 06F 971 804 M bracket 1
connecting piece
knock sensor
41 03G 971 845 bracket for connector housing 1
42 06F 971 804 L |bracket 1
knock sensor
43 06F 971 845 bracket for connector housing 1
44 036 971 845 E |bracket for connector housing 1
45 06F 971 804 E bracket 1
knock sensor
46 06A 971 845 S |bracket for connector housing 1
47 06F 971 804 N bracket 1
vacuum pump
48 06F 971 501 C bracket 1
harness for engine
page: 003 EPIS 474



Model

GO

Year

2007

MG

SG

Illustration

971-35

Restrictions

Rabbit/GTI

UPD

597

18:24 0

5.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

11

13

13A

14

17

17A

18

19

1K1 970 908

1K1 970 908 A

3C0 906 385

1J0 927 320

1K0 937 701 A

1E0 971 921

6X0 971 921 E

8E0 971 921

1J0 973 702

1J0 973 704

1J0 973 705

1K0 973 706

1J0 973 713

sectional wire harness for
engine compartment

sectional wire harness for
engine compartment

sectional wire harness for
engine compartment

single parts
corrug. tubes, t-pieces,

*
*
* cable ties, insulating
* hose, wiring,

* single wires and seals
* gee special catalogue:
* electrical

* connecting elements
flat contact housing
electronic control module

round connector housing with

contact lock

flat contact housing
angled protective cap
protective cap
grommet

flat contact housing
back up lamp switch

flat contact housing with
helper contact catch
oxygen sensor

(behind catalyst)

flat contact housing with
helper contact catch
mass air flow sensor

flat contact housing with
helper contact catch
accelerator pedal with
electronic modul

flat contact housing
oxygen sensor
(in front of catalyst)

clips, holders, grommets,

94 pin

20 pin

26 pin

2 pin
black

4 pin

5 pin

6 pin
black

6 pin
black

1hd

1hd

BPY

automatic

automatic

manual
transmission

et_btl.frm

page: 001

EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:24 05.12.2006
GO 2007 9 71 971-35 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
20 130 973 724 flat contact housing 4 pin 1
coupling piece black
harness for
alternator
23 130 973 737 flat contact housing 14 pin 1
coupling piece
central wiring harness
24 1K0 973 751 flat contact housing 1 pin 1
starter black
single parts which do not
belong to the supply scope
of the wireing harness
28 1K0 971 842 A |retaining clip 1
line
oxygen sensor
29 1K0 971 845 AE |cable holder 1
30 1K0 971 615 BH |wiring conduit left 1
side member
31 1K0 971 615 BL |wiring conduit left 1
side member
32 1K0 971 821 Q |wiring conduit 1
33 1K0 971 848 E |cable holder 1
34 1K0 971 830 G |bracket 1
flat contact housing
oxygen sensor
35 7HO 971 615 C |wiring conduit 1
connecting piece
starter
page: 002 EPIS 474

et_bt2.frm



ETKA

Model
GO

Year

2007

MG

SG
71

Illustration

971-36

Restrictions

Rabbit/GTI

UPD
597

18:24 |

05.12.2006

USA

Pos

Part Number

Name

Remarks

Qty

Model

1K1

1K1

4EO

1KO

130

130

130

130

6Q0

130

130

1KO

130

970

970

972

973

973

973

973

973

973

973

973

973

973

911

911

781

706

999

702

703

704

704

713

752

751

737

R

T

sectional wire harness for
engine compartment

sectional wire harness for
engine compartment

sectional wire harness for
engine compartment

single parts

flat contact housing
electronic control module

flat contact housing with
helper contact catch
accelerator pedal with
electronic modul

flat contact housing with
helper contact catch
mass air flow sensor

flat contact housing
back up lamp switch
air conditioner compressor

flat contact housing with
helper contact catch
leak detection pump

flat contact housing with
helper contact catch
oxygen sensor

(in the catalyst)

flat contact housing with
helper contact catch
oxygen sensor

(behind catalyst)

flat contact housing
oxygen sensor
(in front of catalyst)

flat contact housing
secondary air pump

flat contact housing
starter

flat contact housing
central wiring harness

81-pin
black

6 pin
black

5 pin
black

2 pin
black

4 pin

4 pin
brown

6 pin
black

2 pin
1 pin
black

14 pin

PR

BGP,BGQ

6 speed-
automatic

et _text.frm

page: 001

EPIS 474



Model

GO

Year

2007

MG

SG

Illustration

971-70

Restrictions

Rabbit/GTI

UPD

597

18:24

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

6B

10

11

12

1K1 971 111 H

1K1 971 111 M

1KO0 971 614

1K0O 971 615 BT

3D0 971 838 E

4B0 971 848

1J0 971 921 K

1KO 971 955

1KO 973 205

1J0 973 703

3B0O 973 813

harness for servotronic

harness for servotronic

harness for servotronic
F 1K-7-000 001>>

harness for servotronic

single parts

* corrug. tubes, t-pieces,
* clips, holders, grommets,
* cable ties, insulating

* hose, wiring,

* gsingle wires and seals

* gsee special catalogue:

* electrical

* connecting elements

wiring conduit
wiring conduit

tie wrap with socket
cable holder

protective cap

flat contact housing
steering gear

flat contact housing with
helper contact catch
connecting piece
servotronic control module

flat contact housing with
helper contact catch
connecting piece

0il level sensor

flat connector housing with
additional contact catch
coupling piece

central wiring harness

for rod thikness:

f. hole/sheet metal thickness:

1lhd

1lhd

4,6X200
1-3MM

6,5/0,6-3MM

2 pin
black

5 pin
black

3 pin
black

6 pin

et_btl.frm

page: 001

EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

971-80

Restrictions

Rabbit/GTI

UPD

597

18:25

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

6A

£ 1KO 971 051

3CO 906 385

1J0 906 380

1J0 927 320

1J0 906 234

1K0 937 700

1J0 955 998

1KO 971 614

1KO 971 821 Q

1KO0 971 821

1KO 971 839

central wiring harness
single parts

central wiring harness

manually with details of
vehicle identification
number enclose a copy of
the vehicle data plate
if possible

1K-6W000 001>>

Lo T

single parts

* gerial lead conn.

* housing see special

* catalogue: electrical

* connecting elements
flat contact housing
electronic control module

flat contact housing with

gasket

electronic control module

for automatic transmission

round connector housing with
contact lock

flat contact housing
for vehicles with dual
fan

flat contact housing
fuse holder

flat contact housing
control module for glow plug

grommet
spray jet

wiring conduit
hinge - hood

wiring conduit
wiring conduit

wiring conduit, upper part

area:
harness for engine compartment

part number must be ordered

area:
harness for engine compartment

94 pin

52 pin

20 pin

4 pin

40 pin

11 pin

automatic

automatic

et_btl.frm

page: 001

EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-80 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
10 3D0 971 838 A |tie wrap with bracket 5X200 X 29 1J0 973 702 flat contact housing 2 pin X
for weld pin: 5 switch black 1
for anti-theft alarm system
11 4B0 971 848 cable holder X hood - lock
f. hole/sheet metal thickness: 6,5/0,6-3MM solenoid valve 1
temperature sensor 1
(12) 3C0 971 848 E |cable holder 1 for radiator
brake fluid 1
15 1K0 971 915 D |grommet left 1 back up lamp switch 1
16 1K0 971 915 E |grommet right 1 30 6E0 973 702 flat contact housing 2 pin 2
speed sensor
17 030 971 921 angled protective cap 3 pin 1
31 1J0 973 703 flat contact housing with 3 pin X
18 6HO 971 921 C |protective cap 1 helper contact catch black
thrust sensor 1
19 1CO0 971 921 A |protective cap 2 pin 1 horn for anti-theft alarm 1
system
20 1J0 971 921 E protective cap 1
32 1J0 973 704 flat contact housing with 4 pin X
21 1J0 971 921 K |protective cap 1 helper contact catch
pressure sensor 1
21A| B8EO 971 921 grommet 1 |automatic oxXygen sensor 1
22 4D0 971 992 flat connector housing with 2 pin 3 (32) 1J0 973 733 flat contact housing 6 pin 1 |Jautomatic
additional contact catch black/violet vacuum pump black
fanfare horn
33 1J0 973 705 flat contact housing with 5 pin 1
23 6Q0 972 623 J |flat contact housing with 2 pin 1 helper contact catch
helper contact catch green for hydraulic
sensor for lateral impact clutch operation
acceleration -crashsensor-
33A| 1KO0 973 706 flat contact housing with 6 pin 1
24 1K0 973 026 flat contact housing 26 pin 1 helper contact catch black
anti lock brake system accelerator pedal with
control module -abs- electronic modul
25 7L0 973 047 flat contact housing with 47 pin 1 34 4B0 973 712 flat contact housing with 4 pin 1
helper contact catch helper contact catch
control unit for electronic sensor for headlight range
stability programme -esp- control
26 1K0 973 202 flat contact housing with 2 pin 1 35 1J0 973 713 flat contact housing 6 pin X
helper contact catch black coupling piece black
reservoir with harness for servotronic 1
coolant level switch oxygen sensor 1
solenoid valve 1
- 1K0 971 615 CM |wiring conduit 1
36 1J0 973 714 flat contact housing 8 pin 1
27 7MO0 973 202 flat contact housing 2 pin 1 stationary heater black
level indicator
37 1J0 973 722 flat contact housing with 2 pin X
28 8E0 973 202 flat contact housing 2 pin 2 helper contact catch black
coupling piece pump 1
heated spraying jet fluid container for
water
stationary heater gasoline 1
page: 002 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-80 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
38 130 973 722 A |flat contact housing with 2 pin 1 49 1J0 973 999 A flat contact housing with 5 pin 1
helper contact catch black helper contact catch black/blue
pump mass air flow sensor
for vehicles with headlight
washer system
39 130 973 724 flat contact housing 4 pin X single parts which do not
wiper motor black 1 belong to the supply scope
coupling piece of the wireing harness
harness for 1
alternator 50 1K0 971 614 wiring conduit 1
40 1J0 973 735 flat contact housing 10 pin X 51 1K0 971 615 BH |wiring conduit left 1
twin halogen headlamps black 2
coupling piece 1 52 1K0 971 615 BL |wiring conduit left 1
transmission
52A| 1KO0 941 057 B bracket for connector housing 1
(40) 1J0 941 165 flat contact housing 12 pin 2
halogen twin headlamp unit 53 1K0 971 845 AE |cable holder 1
with gas discharge bulb
(53) 1J0 971 830 H bracket for connector housing 1
41 130 973 737 flat contact housing 14 pin 1 electric fan
coupling piece
harness for engine 54 1K0O 971 845 R cable holder 1
flat contact housing
41A| 1KO0 973 751 flat contact housing 1 pin 1 hood - lock
starter black
55 1K0 971 865 wiring conduit, upper part 1
42 130 973 772 flat connector housing with 2 pin 1 water box left upper
additional contact catch
junction box 56 1K0 971 865 A |wiring conduit, upper part 1
water box right upper
43 1J0 973 802 male blade terminal housing 2 pin X
outside temperature sensor black 1 (56) 1K0 971 865 D retaining frame right upper 1
brake pad wear indicator 1
57 1K0 971 866 wiring conduit, lower part 1
44 6X0 973 802 A |flat contact housing 2 pin 1 water box left lower
coupling piece
alternator 58 1K0 971 866 A |wiring conduit, lower part 1
water box right lower
45 1K0 973 804 flat contact housing with 4 pin 1
helper contact catch black (58) 1KO 941 369 cover 1
coupling piece water box
harness
alternator (58) 1K0 971 866 D retaining frame left lower 1
46 6X0 973 825 flat contact housing 5 pin 1 59 1J0 971 830 H bracket for connector housing 1
coupling piece electric fan
halogen fog lamp
60 see illustration: 971-82
47 8D0 973 834 flat contact housing 8 pin 1
coupling piece black 61 see illustration: 971-82
harness for bumper front
48 |+ N 906 661 01 |tie wrap 4,5X200 X
f. hole/sheet metal thickness: 6,5/0,3-3
page: 003 EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

971-82

Restrictions

Rabbit/GTI

UPD

597

18:25

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

£ 1KO 971 051

1K1 971 157

1J0 919 321

443 937 527

8EO0 937 527

4A0 937 530

1K0 937 545 K

1KO 937 561

central wiring harness

dashboard
pillar a/b

central wiring harness

part number must be ordered
manually with details of
vehicle identification
number enclose a copy of
the vehicle data plate

if possible

1K-6W000 001>>

Lo T

adapter wiring harness
mobile phone harness

adapter wiring harness
for vehicles with telephone

central wiring harness
single parts

dashboard
pillar a/b

* aerial lead conn.

* housing see special

* catalogue: electrical
* connecting elements
flat contact housing
cigarette lighter
electrical outlet

relay plate

adapter
relay

fuse holder

bracket
coppling station
seat

mounting

coppling station

seat

three-point seat belt with
warning contact

area:

area:

1lhd
1960MM

3 pin

9 pin

10 pin
black

2 pin

left

left

et_btl.frm

page: 001

EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-82 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
- 1K0 937 562 B |mounting right 1 20 4D0 971 636 B flat contact housing 6 pin 1
coppling station button for electronic red
seat satbility program -esp-
three-point seat belt with
warning contact (20)| 4BO 971 636 D flat contact housing 6 pin 1
button blue
- 1KO0 937 546 bracket right 1 for vehicles with
coppling station drive-off assistance
seat
21 893 971 636 flat contact housing 6 pin 1
9 1K0 937 722 D |flat contact housing with 28 pin 2 for vehicles with sliding roof
helper contact catch grey
coupling piece 22 1K1 971 822 C wiring conduit 1hd 1
door dashboard passenger side
(10) 1K1 941 397 B |bracket lhd | 1 23 4B0 971 832 flat contact housing with 2 pin 1
helper contact catch
11 1K1 941 824 fuse holder lhd | 1 read coil
- 130 962 624 A |flat contact housing with 24 pin 1 24 4B0 971 833 flat contact housing 6 pin 1
helper contact catch grey for vehicles with automatic
amplifier anti-dazzel interior rear
view mirror
- 1J0 962 623 B |flat contact housing with 23 pin 1
helper contact catch green 25 3D0 971 838 A tie wrap with bracket 5X200 X
amplifier for weld pin: 5
- 1J5 971 005 B |cable holder 1 27 3D0 971 838 E tie wrap with socket 4,6X200 X
pillar a upper for rod thikness: 1-3MM
12 1K0 971 446 F |wiring conduit 1 28 4B0 971 848 cable holder X
f. hole/sheet metal thickness: 6,5/0,6-3MM
13 1K0 971 615 CK |wiring conduit 1
29 1K1 971 861 A |wiring conduit 1lhd 1
(14) 1K0 971 615 CF |wiring conduit 1 dashboard
roof cross member
30 8L0 971 883 flat contact housing 8 pin 1
15 1K0 971 615 CG |wiring conduit 1 black
instrument cluster
31 1TO0 971 909 grommet 1
16 1K0 971 615 BP |wiring conduit 1lhd 1
heater 32 1K0 971 930 C cable holder 1
tunnel
17 1K0 971 616 D |wiring conduit 1
steering column 33 1K0 971 930 G cable holder 1
18 1KO0 971 616 E wiring conduit 1lhd 1 34 1J0 971 930 K bracket 1
steering column
35 1J0 971 972 male blade terminal housing 2 pin X
19 4D0 971 636 flat contact housing 6 pin X for vehicles with 2
button for anti-slip black 1 footwell illumination
regulation -asr- temperature sensor X
press button for tyre 1 glove box light 1
pressure monitor system
page: 002 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-82 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
37 1K0 971 975 flat contact housing with 20 pin X 47 1K0 972 704 flat contact housing 4 pin X
helper contact catch sun sensor black 2
electronic modul for steering 1 control unit for 1
col. combination switch immobilizer
display and operating unit 1
with control unit for manually 48 6Q0 972 706 flat contact housing with 6 pin 1
regulation air conditioner helper contact catch blue
interior and reading light
38 8E0 971 980 flat contact housing with 10 pin 1
helper contact catch 50 3BO0 972 722 female blade terminal housing 4 pin X
switch for lighting emergancy button black 1
warning light for 1
(38A) 1K0 971 981 A |sealing cap right 1 deactivating
airbag
06/05 7G8 |beige
51 1K0 972 725 D flat contact housing with 12 pin 1
06/05 9B9 |satin black helper contact catch blue
38B| 1KO0 971 981 B |sealing cap left 1 52 1K0 972 725 flat contact housing with 12 pin 1
helper contact catch green
06/05 7G8 |beige
53 4E0 972 726 flat contact housing with 26 pin 1
06/05 9B9 |satin black cap black
electronic control unit for
39 1K0 972 117 flat contact housing with 2 pin 1 headlight range control
helper contact catch black
electronic control module 54 6Q0 972 726 flat contact housing 12 pin 1
cd-changer
40 1K0 972 117 A |flat contact housing with 2 pin 1
helper contact catch brown 55 1K0 972 728 B flat contact housing with 11 pin 1
electronic control module helper contact catch red
41 8E0 972 420 flat contact housing 20 pin X 56 1K0 972 728 flat contact housing with 11 pin 1
control unit for gateway red 1 helper contact catch white
interface box 1
57 3B0 972 734 flat contact housing 8 pin 1
42 4E0 972 586 flat contact housing 3 pin X coupling piece
side air bag unit yellow 2 moulded headlining
for vehicles with passenger 1
airbag 58 3D0 972 762 male blade terminal housing 2 pin 2
press button buckle yellow
43 1K0 972 641 flat contact housing 6 pin 1
electronic control module black 59 7L0 972 762 male blade terminal housing 10 pin 2
coupling piece black
44 1K0 972 643 flat contact housing with 10 pin 1 seat left
helper contact catch black
electronic control module 60 1K0 972 766 flat contact housing with 10 pin 1
helper contact catch black
45 3A0 972 695 flat contact housing 16 pin 1
for diagnosis plug 61 1K0 972 772 flat contact housing with 4 pin 1
helper contact catch black
- 3B0 972 702 flat contact housing with 2 pin 1 emergency light botton
helper contact catch
for two - way radio 62 1J0 972 775 flat contact housing 10 pin 1
coupling piece
46 1J0 972 704 flat contact housing 4 pin 1 harness for air conditioner
switch - brake light black operation
page: 003 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-82 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
63 1K0 972 776 flat contact housing with 10 pin 1 74 1K0 972 930 A flat connector housing with 18 pin 1
helper contact catch black additional contact catch brown
selector lever electronic control units for
comfort version
64 7L0 972 776 flat contact housing 6 pin 1
for vehicles with the 75 1K0 972 961 flat contact housing 16 pin 1
possibility of deactivating electronic control module black
the passenger airbag
76 1K0 972 974 flat contact housing with 4 pin 1
65 1TO0 972 822 A |cable holder 1 helper contact catch yellow
pillar a upper electronic modul for steering
col. combination switch
- 1K0 972 837 A |wiring conduit left 1
center console 77 1K0 972 977 A flat contact housing with 36 pin 1
booster for sound system cap black
- 1K0 971 446 A |wiring conduit left 1 78 1K0 973 100 male blade terminal housing 75 pin 1
tunnel driver and passenger airbag yellow
booster for sound system control module
66 1K0 972 923 flat contact housing with 6 pin 1 79 6Q0 973 206 H male blade terminal housing 50 pin 1
helper contact catch black air bag control module red
electronic control units for
comfort version (79) 6Q0 973 206 K |male blade terminal housing 50 pin 1
air bag control module grey
67 1K0 972 924 flat contact housing with 8 pin 2
helper contact catch black 80 1C0 973 119 flat contact housing 3 pin X
electronic control module rain- and day driving lights black 1
sensor
68 1K0 972 925 flat contact housing with 12 pin 1 antenna 1
helper contact catch black
electronic control module 81 1J0 973 119 flat contact housing 2 pin X
handbrake 1
69 1K0 972 925 A |flat contact housing with 12 pin 1
helper contact catch brown (81) 1K0 973 333 flat contact housing with 3 pin 1
electronic control module helper contact catch
sun vizor
70 1K0 972 926 flat contact housing with 12 pin 1 for vehicles with radio wave
helper contact catch black garage door opener
electronic control module
82 4E0 973 205 flat contact housing with 5 pin 1
71 1K0 972 929 flat contact housing with 11 pin 1 helper contact catch black
helper contact catch black for vehicles with passenger
electronic control module airbag
72 1K0 972 929 A |flat contact housing with 11 pin 1 83 1J0 973 332 flat contact housing 2 pin 1
helper contact catch brown press button buckle with
electronic control module warning contact
73 1K0 972 930 flat connector housing with 18 pin 1 84 1K0 973 706 flat contact housing with 6 pin 1
additional contact catch black helper contact catch black
electronic control units for accelerator pedal with
comfort version electronic modul
85 4B0 973 712 flat contact housing with 4 pin 1
helper contact catch
acceleration sensor
page: 004 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-82 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
86 3B7 035 444 flat contact housing with 8 pin 1
helper contact catch black
and additional contact housing
catch
radio
87 3B7 035 447 flat contact housing with 8 pin 1
helper contact catch brown
radio
88 3B7 035 447 A |flat contact housing 12 pin 1
radio blue
89 3B7 035 447 B |flat contact housing 12 pin 1
radio green
90 7MO0 035 727 flat contact housing 18 pin 1
navigation unit
91 + N 906 661 01 |tie wrap 4,5%X200 X
f. hole/sheet metal thickness: 6,5/0,3-3
95 see illustration: 971-80
96 see illustration: 971-80
97 see illustration: 971-84
98 see illustration: 971-84
page: 005 EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

971-84

Restrictions

Rabbit/GTI

UPD

597

18:25

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

£ 1KO 971 051

1KO0

1J0

6Q0

1KO0

1Cco

1K6
1K6
1KO0
1KO0

1K6

919

919

937

937

945

971

971

971

971

971

231

321

713

722 D

527

615

615 A

615 F

615 BJ

815 E

central wiring harness
single parts

pillar b
taillight

central wiring harness

part number must be ordered
manually with details of
vehicle identification
number enclose a copy of
the vehicle data plate

if possible

1K-6W000 001>>

ook % ok ok ko

single parts

pillar b
taillight

* gerial lead conn.

* housing see special

* catalogue: electrical
* connecting elements
flat contact housing
fuel supply module

flat contact housing
for vehicles with socket
in luggage

flat contact housing with
helper contact catch
electronic control module for
trailer towing

flat contact housing with
helper contact catch
coupling piece

door

cover with grommet

socket for trailer

towing

wiring conduit

wiring conduit

wiring conduit

wiring conduit

wiring conduit

area:

area:

5 pin
black

3 pin

16 pin
black

28 pin
grey

left

right

et_btl.frm

page: 001

EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-84 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
16 1K6 971 815 D |cable holder 1 37 6Q0 972 623 S flat contact housing with 2 pin 1
roof helper contact catch
18 3D0 971 838 A |tie wrap with bracket 5X200 X 38 8Z0 972 701 flat contact housing 10 pin 1
for weld pin: 1-3MM control unit for
for rod thikness: fuel delivery unit
18A| 3D0 971 838 E |tie wrap with socket 4,6X200 X 39 1J0 972 702 flat contact housing 2 pin 1
for sheet metal thickness: 1-3MM flap for
fuel filler
19 1J0 971 843 A |cable holder X
f. hole/sheet metal thickness: 6,5X10/0,6-1,0 40 1J0 972 704 flat contact housing 4 pin 2
mid-range speaker rear
21 1HO 971 848 AB |clip 120MM 1
f. hole/sheet metal thickness: 6,5/0,6-5,1MM 41 6Q0 972 706 flat contact housing with 6 pin 1
helper contact catch blue
22 4B0 971 848 cable holder X control unit for remote
f. hole/sheet metal thickness: 6,5/0,6-3MM control auxiliary heater
23 1K0 971 848 B |cable holder 1 (41) 3D0 972 708 flat contact housing 8 pin 1
radio-satelite receiver
24 1K0 971 896 wiring conduit 1 (tuner)
magnetic field probe
(24) 1K0 971 896 A |wiring conduit 1
42 3D0 972 765 flat contact housing with 5 pin 1
25 1J0 971 903 grommet 1 helper contact catch black
26 6Q0 971 905 grommet 2 43 6X0 972 773 flat contact housing 3 pin X
three-point inertia reel yellow 2
27 1J0 971 913 A |grommet 39,7/4,5 4 seat belt with belt tensioner
and belt pressure limiter
28 1C0 971 921 A |protective cap 2 pin 1 side air bag unit 2
for vehicles with head airbag 2
29 1J0 971 921 L |protective cap 1
44 1K0O 972 774 flat contact housing with 4 pin X
30 6HO 971 921 C |protective cap 1 helper contact catch black
connecting piece taillight
31 1TO 971 930 A |bracket for connector housing 1 45 6Q0 972 883 B flat contact housing with 12 pin 1
helper contact catch brown
32 130 971 972 male blade terminal housing 2 pin X electronic control module for
luggage compartment light 1 trailer towing
loudspeaker tweeter rear 2
46 1J0 973 119 flat contact housing 2 pin 1
33 4B0 971 978 male blade terminal housing 6 pin X extractor unit with metering
button pump
for vehicles with interior
movement detection 47 1J0 973 303 flat contact housing 5 pin 1
coupling piece
34 1C0 971 978 rd. connector sleeve housing 13 pin 1 for flap, rear
for trailer towing
48 1J0 973 303 A flat contact housing 5 pin 1
35 8E0 972 112 A |flat contact housing 12 pin 1 coupling piece
parking aid control unit black for flap, rear
36 8E0 972 416 A |flat contact housing 16 pin 1
parking aid control unit brown
page: 002 EPIS 474



Model

Year

GO 2007

MG SG Illustration

9 71 971-84

Restrictions

Rabbit/GTI

UPD

597

18:25

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks Qty

Model

Pos

Part Number

Name

Remarks

oty

Model

49

50

51

52

53

54

55

56

57

58

60

62

1J0 973 303 M

6E0 973 702

1J0 973 703

4B0 973 712

1J0 973 713

1KO0 615 F

1J0 973 722

1J0 973 802

1J0 814

906 437 01

906 661 01

1KO0 971 446 B

1Ké6 971 815 C

1TO 971 930 E

flat contact housing with
retainer guide
coupling piece
for flap, rear

flat contact housing
speed sensor

flat contact housing with
helper contact catch

fuel gauge

sender

flat contact housing with
helper contact catch
sensor for headlight
control

range

flat contact housing
coupling piece
haldex coupling

wiring conduit
adapter wiring harness
for haldex coupling

flat contact housing with
helper contact catch
vacuum pump

male blade terminal housing
coupling piece

bumper

flat contact housing
coupling piece

bumper

tie wrap with bracket
for weld pin:

tie wrap
f. hole/sheet metal thickness:

single parts which do not
belong to the supply scope
of the wireing harness
wiring conduit

cable holder
antenna cable

cable holder

5 pi

2 pi

3 pi
blac

4 pi

6 pi
blac

2 pi
blac

2 pi
rear

8 pi
rear

10X1
5MM

4,5X
6,5/

n 1

n 2

n 2
k

n 1

n 1
k

n 1
k

n 1

n 1

87 X

200 X
0,3-3

70

71

1K6 937 545 M

bracket
connector for aerial wire

see illustration:

see illustration:

971-82

971-82

et_bt2.frm

page: 003

EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-91 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
4 harness for bumper front
3—
(1) 1K0 971 095 R harness for bumper front 1
for vehicles with
fog lamps
single parts
3 3D0 906 732 angled protective cap 2 pin 1
(4) 7HO 941 165 flat contact housing with 2 pin
helper contact catch
halogen fog lamp
7 1J0 973 702 flat contact housing 2 pin 1
temperature sender black
(8) 8D0 973 734 flat contact housing 8 pin 1
coupling piece
central wiring harness
harness for bumper rear
ultrasonic sensor
license plate light
10 1K6 971 104 E harness for bumper rear 1
ultrasonic sensor
license plate light
(10) 1TO 971 176 adapter wiring harness 1
parking aid
single parts
12 811 971 848 B retaining clip 1
13 1J0 971 921 L protective cap 1
14 1J0 971 939 C clip 3
15 1HO 971 939 C clip 1
16 1J0 973 702 flat contact housing 2 pin 2
license plate light black
17 1J0 973 703 flat contact housing with 3 pin 4
22— helper contact catch black
(4 ultrasonic sensor
&9
|
23
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 971-91 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
18 1J0 973 714 flat contact housing 8 pin 1
coupling piece black
central wiring harness
harness for bumper rear
license plate light
20 1K6 971 104 D |harness for bumper rear 1
license plate light
single parts
21 811 971 848 B |retaining clip 4
22 6HO 971 921 C protective cap 1
23 1J0 973 702 flat contact housing 2 pin X
license plate light black 2
coupling piece
central wiring harness 1
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:25 05.12.2006
GO 2007 9 71 972-10 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
plug bridge
fuse box
(1) 1K0 937 524 B plug bridge 3 point 1
clip 15
for wire cross section: 4
(1) 1K0 937 524 A |plug bridge 3 point 1
clip 75
for wire cross section: 6
(2) 1KO0 937 524 D plug bridge 5 point 1
clip 15
for wire cross section: 4
(3) 1K0 937 524 plug bridge 6 point 1
clip 30
for wire cross section: 6
(3) 1K0 937 524 C plug bridge 6 point 1
clip 30
for wire cross section: 6
(3) 1K0 937 524 E plug bridge 6 point 1
clip 15
for wire cross section: 4
s
r
]F
~
page: 001 EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

972-25

Restrictions

Rabbit/GTI

UPD

597

18:25

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

1KO 971 584

1KO 971 584

1KO 971 584

1KO 971 584 B

adapter wiring harness
airbag unit for steering wheel

air bag harness
adapter
steering wheel

air bag harness
adapter
multifunction steering wheel

adapter wiring harness
airbag unit for steering wheel

air bag harness-
steering wheel

air bag harness-
steering wheel and multifunc-
tion button

side air bag harness
* harness not suppliable

et_btl.frm

page: 001

EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

972-27

Restrictions

Rabbit/GTI

UPD

597

18:26 0

5.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

1K3

1K4

1K4

3BO

7L0

3BO

1J0

1KO0

1KO0

971

971

971

959

972

972

972

971

971

369

369 F

369 G

743

623

722

724

365 RL

365 RJ

seat frame wiring harness

seat frame wiring harness

seat frame wiring harness
for vehicles with electric
height adjustable seats
for vehicles with optical
and acoustic seat belt
warning

seat frame wiring harness
for vehicles with electric
backrest adjustment

single parts

flat contact housing with
helper contact catch
motor for backrest adjustment

flat contact housing
drive unit for height
adjustment lumbar support

female blade terminal housing
coupling piece

harness for motor seat

seat adjustment

flat contact housing with
helper contact catch

lumbar support control motor
for heights adjustment

harness
seat well

harness
seat well

harness

seat well

for vehicles with electric
backrest adjustment

2 doors

4-door
left

4-door
left

4 pin
black

2 pin

4 pin
black

8 pin
black

left

left

et_btl.frm

page: 001

EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-27 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
(10) 1K0 971 365 TB |harness left 1 19 1J0 972 772 flat contact housing 4 pin 1
seat well switch for seat adjustment
for vehicles with electric
backrest adjustment 20 1J0 972 725 female blade terminal housing 10 pin 1
for vehicles with optical switch for seat adjustment
and acoustic seat belt
warning 21 3B0 972 732 flat contact housing 4 pin 1
coupling piece
(10) 1K0 971 365 PQ |harness left 1 for vehicles with
seat well seat heater element
for models with manually
adjustable lumbar support 22 1J0 972 734 flat contact housing 8 pin 1
for vehicles with electric motor for backrest adjustment
memory seat and backrest
adjustment 23 1J0 973 119 flat contact housing 2 pin 1
coupling piece
(10) 1K0 971 366 ST |harness right 1 harness for interior
seat well
24 1J0 973 332 flat contact housing 2 pin X
coupling piece
harness for heated seats
harness
seat well (24) 1TO0 973 332 flat contact housing 2 pin 1
—————————————————————————————— seat occupant recognition
30 * harness not suppliable
single parts
(12) 130 972 724 flat contact housing with 8 pin 1 |PR-3L4
helper contact catch black
for vehicles with heated seat
13 3B0O 959 743 flat contact housing with 4 pin X
helper contact catch black
for vehicles with seat height
adjustment
motor for seat adjustment for
rake adjustment
14 893 971 636 flat contact housing 6 pin 1
switch for lumbar
adjustment
15 4E0 972 576 flat contact housing 3 pin X
coupling piece yellow
side air bag unit
17 4E0 972 586 flat contact housing 3 pin X
coupling piece
side air bag unit
18 8E0 972 710 flat contact housing 10 pin 1
coupling piece black
harness for interior
page: 002 EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

972-31

Restrictions

Rabbit/GTI

UPD

597

18:26

05.12.2006

USA

ETKA

/J/'//7
)
7 &2

Pos

Part Number Name

Remarks

oty

Model

1K6 971

1K6 971

1K5 971

1K5 971

1K0 971

1K0 971

1K0 971

N 105

100

100

100

100

100

100

100

902

roof wiring harness

>> 1K-6B090
>> 1K-6P018
>> 1K-6U017
>> 1K-6W099

o

500%*
450%*
040%*
000*

01

adapter wiring harness

roof

and/or

for vehicles with ultrasonic
interior monitor

adapter wiring harness
roof
make-up mirror, illuminated

adapter wiring harness

roof

for vehicles with radio wave
garage door opener

for vehicles with interior
movement detection

adapter wiring harness

roof

for vehicles with radio wave
garage door opener

roof wiring harness
F 1K-6B090 501>>*
F 1K-6P018 451>>%*
F 1K-6U017 041>>*
F 1K-6W099 001>>*

adapter wiring harness

roof

make-up light

adapter wiring harness

roof

for vehicles with radio wave
garage door opener

adapter wiring harness
roof

adhesive tape

adapter wiring harness
ultrasonic sensor

* single parts no available

GB25
transparent

et_btl.frm

page: 001

EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-33 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
30 31 39 harness for door
(drivers side)
F 1K-6B090 501>> 1K-6-250 000*
F 1K-6P018 451>> 1K-6-250 000*
F 1K-6U017 041>> 1K-6-250 000*
F 1K-6W099 001>> 1K-6-250 000
(1) 1K3 971 120 harness for door 2 doors 1 |PR-8RW
(1) 1K3 971 120 B harness for door 2 doors 1
for vehicles with sound system
(1) 1K3 971 120 harness for door 2 doors 1 |PR-8RM
(1) 1K4 971 120 harness for door 4-door 1 |PR-8RW
(1) 1K4 971 120 B harness for door 4-door 1
for vehicles with sound system
(1) 1K4 971 120 harness for door 4-door 1 |PR-8RL
harness for door
(drivers side)
F 1K-7-000 001>>
(1) 1K3 971 120 K |harness for door 2 doors 1
(1) 1K3 971 120 N harness for door 2 doors 1
(1) 1K3 971 120 M harness for door 2 doors 1
for vehicles with sound system
(1) 1K4 971 120 K harness for door 4-door 1
(1) 1K4 971 120 M harness for door 4-door 1 |PR-8RA
(1) 1K4 971 120 N harness for door 4-door 1
harness for door
(passenger side)
F 1K-6B090 501>> 1K-6-250 000
F 1K-6P018 451>> 1K-6-250 000
F 1K-6U017 041>> 1K-6-250 000
F 1K-6W099 001>> 1K-6-250 000
(1) 1K3 971 121 harness for door 2 doors 1 |PR-8RW
(1) 1K3 971 121 B harness for door 2 doors 1
for vehicles with sound system
(1) 1K3 971 121 C harness for door 2 doors 1 |PR-8RL
(1) 1K4 971 121 harness for door 4-door 1 |PR-8RW
page: 001 EPIS 474



Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-33 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
(1) 1K4 971 121 B |harness for door 4 -door 1 9 3D0 971 818 tie wrap 5,0X200 X
for vehicles with sound system gasket for base plate
f. hole/sheet metal thickness: 6,5/0,6-1,5
(1) 1K4 971 121 C |harness for door 4-door 1 |PR-8RL
10 1J0 971 843 A cable holder X
f. hole/sheet metal thickness: 6,5X10/0,6-1,0
harness for door 11 3B0 971 848 F cable holder X
(passenger side)
F 1K-7-000 001>> 12 8Z0 971 848 F bracket for connector housing X
(1) 1K3 971 121 G |harness for door 2 doors 1 |PR-8RW/8RA (13) 1J0 971 921 L protective cap 1
flat contact housing 1J0 973 703
(1) 1K3 971 121 H |harness for door 2 doors 1 1J0 973 714
for vehicles with sound system
13 6K0 971 921 A angled protective cap 1
(1) 1K3 971 121 J |harness for door 2 doors 1 |PR-8RL/9VJ flat contact housing 3 pin
(1) 1K4 971 121 G |harness for door 4-door 1 |PR-8RW 14 1K0 971 975 flat contact housing with 20 pin 1
helper contact catch
(1) 1K4 971 121 H |harness for door 4-door 1 control unit for door
for vehicles with sound system
15 6Q0 972 623 T flat contact housing with 2 pin 1
(1) 1K4 971 121 J |harness for door 4-door 1 |PR-8RL helper contact catch
side air bag unit
(1) 1K3 971 121 K |harness for door 2 doors 1 |PR-8RW
16 3B0 972 703 flat contact housing with 3 pin 1
(1) 1K3 971 121 M |harness for door 2 doors 1 helper contact catch
for vehicles with sound system loudspeaker
(1) 1K3 971 121 N |harness for door 2 doors 1 |PR-8RL 17 1J0 972 704 flat contact housing 4 pin 1
loudspeaker black
(1) 1K4 971 121 K |harness for door 4-door 1 |PR-8RW
18 3B0 972 712 flat contact housing with 2 pin 1
(1) 1K4 971 121 M |harness for door 4-door 1 helper contact catch
for vehicles with sound system loudspeaker
for vehicles with sound system
(1) 1K4 971 121 N |harness for door 4-door 1 |PR-8RL
19 6Q0 972 726 flat contact housing 12 pin 1
frequency crossover X
single parts 20 3B0 972 732 flat contact housing 4 pin 1
loudspeaker tweeter
- N 106 146 01 |cable holder self-adhesive 1
velcro strip 21 1J0 973 715 flat contact housing 10 pin 1
door lock
5 1K0 937 702 C |flat contact housing with 28 pin 1
helper contact catch (21) 1J0 973 714 flat contact housing 8 pin 1
coupling piece door lock black
pillar a
6 3D0 941 907 grommet X
door harness for door
control unit for door
(7) 1K0 959 843 C |boot with retaining frame 1 (drivers side)
F >> 1K-6-250 000%*
8 1K0O 971 003 D bracket X
page: 002 EPIS 474

et_bt2.frm



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-33 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
(25) 1K3 971 557 harness for door 2 doors 1 (33) 1K0 972 704 flat contact housing 4 pin 1
electronic control module button for electrically black
operated flap - lock
(25) 1K4 971 557 harness for door 4-door 1
electronic control module 33 1K0 972 704 A flat contact housing 4 pin 1
switch for electric brown
windows 2 doors
harness for door 34 1K0 972 704 D flat contact housing 4 pin X
control unit for door safety switch for central blue
(drivers side) locking system 1
F 1K-7-000 001>> button for electrically
operated flap - lock 1
(25) 1K3 971 557 A |harness for door 2 doors 1
electronic control module 35 6Q0 972 706 A flat contact housing with 6 pin 1
helper contact catch brown
(25) 1K4 971 557 B |harness for door 4-door 1 switch for heated
electronic control module rear view mirror
37 1J0 972 977 G flat contact housing with 32 pin 1
cap grey
harness for door control unit for door
control unit for door
(passenger side) 38 1J0 973 119 flat contact housing 2 pin 1
F >> 1K-6-250 000* warning lamp
(25) 1K3 971 558 harness for door 2 doors 1 39 + N 906 661 01 |tie wrap 4,5%X200 X
control unit for door f. hole/sheet metal thickness: 6,5/0,3-3
see drawing: N 906 661
(25) 1K4 971 558 harness for door 4-door 1
control unit for door
harness for door
control unit for door
(passenger side)
F 1K-7-000 001>>*
(25) 1K3 971 558 A |harness for door 2 doors 1
control unit for door
(25) 1K4 971 558 A |harness for door 4-door 1
control unit for door
single parts
30 3D0 971 497 D |tie wrap with socket 1
31 3D0 971 838 E tie wrap with socket 4,6X200 X
for rod thikness: 1-3MM
(31) 1K0O 971 818 tie wrap X
page: 003 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-35 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
harness for door rear
F >> 1K-6-250 000%*
(1) 1K4 971 693 AA |harness for door left rear 1
(1) 1K4 971 693 Q harness for door left rear 1
for vehicles with system
(1) 1K4 971 694 AA |harness for door right rear 1
(1) 1K4 971 694 Q harness for door right rear 1
for vehicles with system
harness for door rear
F 1K-7-000 001>>
(1) 1K4 971 694 BL |harness for door right rear 1
(1) 1K4 971 694 BH |harness for door right rear 1
for vehicles with system
(1) 1K4 971 693 BH |harness for door left rear 1
for vehicles with system
(1) 1K4 971 693 BL |harness for door left rear 1
single parts
5 1K0 937 702 C flat contact housing with 28 pin 1
helper contact catch
coupling piece
pillar b
5A 1KO0 941 907 grommet 1
door
(5A)| 1K0 971 908 E |plug 1
door rear
but without:
harness for door
6 1J0 959 383 B flat contact housing with 18 pin 1
gasket
control unit for door
7 1K0 959 843 C boot with retaining frame 1
8 1K6 971 615 F wiring conduit left 1
(8) 1K6 971 616 wiring conduit right 1
9 3D0 971 818 tie wrap 5,0X200 X
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-35 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
10 3D0 971 838 E tie wrap with socket 4,6X200 X
for rod thikness: 1-3MM

10A| B8EO 971 848 L tie wrap with 11,5X160 X

plate

f. hole/sheet metal thickness: 6,5/ 0,6-1,5
11 1J0 971 921 L |protective cap 1

flat contact housing 1J0 973 703

1J0 973 714

12 1J0 971 972 male blade terminal housing 2 pin 1

loudspeaker
13 130 972 704 flat contact housing 4 pin 1

loudspeaker black
14 1K0 972 704 flat contact housing 4 pin 1

switch for electric black

windows
(15) 1J0 973 713 flat contact housing 6 pin 1

door lock black

page: 002 EPIS 474



Model

GO

Year

2007

MG

SG

71

Illustration

972-66

Restrictions

Rabbit/GTI

UPD

597

18:26

05.12.2006

USA

ETKA

Pos

Part Number

Name

Remarks

oty

Model

10

10A

11

12

13

14

1K1 971 566 AA

1K1 971 566 AD

1J0 971 003 A

8D0 937 731 A

3D0 971 497 D

8L0O 971 838

1J0 971 972

1J0 972 702

1K0 972 704

6Q0 972 706

1J0 972 752

1J0 972 754

1J0 972 755

harness for air conditioner
operation

harness for air conditioner
operation

harness for electronically
regulated air conditioner

single parts
bracket

flat contact housing with
retainer guide

electric fan motor

for vehicles with electroni-
cally regulated air condit.

tie wrap with socket

tie wrap with bracket for
plastic pin:

male blade terminal housing
temperature sender

flat contact housing
temperature sender

flat contact housing
for vehicles with electric
air additional heater

flat contact housing with
helper contact catch
regulating flap

for recirculated air operation
possibility

regulating flap

defroster flap

flat contact housing
electric fan motor

flat contact housing
series resistance for fresh
air and hot air blower

flat contact housing

display and operating unit
with control unit for manually
regulation air conditioner

1lhd

1lhd

6 pin
brown

5X300

2 pin

2 pin

4 pin
black

6 pin
blue

2 pin

4 pin

5 pin

et_btl.frm

page: 001

EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-66 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
15 1J0 972 785 flat contact housing 10 pin 1
coupling piece
harness for interior
16 1K0 972 928 flat contact housing 16 pin X
display and operating unit black
with control unit for manually
regulation air conditioner 1
display and operating unit for
electr. regulation of air
conditioner 1
17 1K0 972 928 A |flat contact housing 16 pin 1
display and operating unit for brown X
electr. regulation of air
conditioner
page: 002 EPIS 474



et_btl.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-82 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
harness for rear, left
trunk 1lid
(1) 1K6 971 147 N harness for rear, left 1
trunk 1lid
€§ (1) 1K6 971 147 P harness for rear, left 1
{1 trunk 1lid
= for vehicles with
S diversity window aerial
= — for vehicles with naviga-
? tion system
4 (1) 1K6 971 147 Q harness for rear, left 1
trunk 1lid
for vehicles with
diversity window aerial
harness for rear, right
trunk 1lid
(2) 1K6 971 148 AG | harness for rear, right 1
trunk 1lid
(2) 1K6 971 148 AJ |harness for rear, right 1
trunk 1lid
for vehicles with
diversity window aerial
for vehicles with naviga-
tion system
(2) 1K6 971 148 AK | harness for rear, right 1
trunk 1lid
for digital radio/tv
feception
(2) 1K6 971 148 AL |harness for rear, right 1
trunk 1lid
for vehicles with
diversity window aerial
single parts
| 14— —23 o .
29 5 1K6 971 445 A wiring conduit 1
éj 6 100 971 739 corrugated pipe piece X
' (7) 5MO 971 829 A |grommet
5-22 harness for rear,
\/ [? trunk 1lid
1
8 1KO0 971 843 A bracket 1
page: 001 EPIS 474



et_bt2.frm

Model Year MG SG lllustration Restrictions UPD 18:26 05.12.2006
GO 2007 9 71 972-82 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model Pos Part Number Name Remarks Qty Model
- 1K6 971 446 A |wiring conduit right 1 19 1J0 973 333 flat contact housing 5 pin 1
harness for rear, coupling piece black
trunk 1lid harness for interior
- 1K6 971 445 B |wiring conduit left 1 20 1J0 973 333 A flat contact housing 5 pin 1
harness for rear, coupling piece brown
trunk 1lid harness for interior
- 1K0 971 848 L |bracket for connector housing 1 (20) 1J0 973 333 M flat contact housing 5 pin 1
coupling piece light pink
- 1J9 971 615 K |bracket 1 |wagon
harness for rear, 21 1J0 973 702 flat contact housing 2 pin 1
trunk 1lid for central locking system black
roof cross member rear
22 1J0 973 704 flat contact housing with 4 pin X
9 1C0 971 848 D |clip 1 helper contact catch
f. hole/sheet metal thickness: 6,5/0,6-5,1MM hood - lock 1
wiper motor 1
10 3B0 971 848 F |cable holder X
pillar b 23 1K6 035 570 C adapter wiring harness right 1
condenser
11 1K6 971 848 clip X
for flap, rear (23) 1K6 035 570 G adapter wiring harness left 1
condenser
12 4B0 971 848 cable holder X
f. hole/sheet metal thickness: 6,5/0,6-3MM (23) 1K6 035 570 K adapter wiring harness left 1
condenser +
13 6NO 971 921 female blade terminal housing 1
for rear window glass 24 * aerial lead conn.
heated * housing see special
* catalogue: electrical
14 1J0 972 702 flat contact housing 2 pin 1 * connecting elements
for rear fog light
25 water pipe
15 1K0 972 751 A |flat contact housing with 1 pin 1 see illustration: 955-25
helper contact catch brown
coupling piece
harness with suppression
condenser single parts which do not
belong to the supply scope
16 1K0 972 751 flat contact housing with 1 pin 1 |CODE 1 of the wireing harness
helper contact catch black
coupling piece 30 1K6 937 545 D bracket 1
harness with suppression connector for aerial wire
condenser for flap, rear
17 1K0 972 752 flat contact housing with 2 pin 1 |CODE 1 - N 013 969 21 |tapping screw, fill. hd. 4,8X16 2
helper contact catch black
coupling piece - WHT 000 001 AB |expanding nut 4.8X14.9%X21.5 1
harness with suppression
condenser
18 1J0 973 119 flat contact housing 2 pin 1
additional brake light
page: 002 EPIS 474



ETKA

et _text.frm

Model Year MG SG lllustration Restrictions UPD 18:27 ‘ 05.12.2006
GO 2007 9 71 972-98 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
list of locally-made
harnesses
1-384 adapter wiring harness
motor for backrest adjustment
1-396 adapter wiring harness
heater element-backrest
1-726 harness for rear,
trunk lid
rear window glass heated
page: 001 EPIS 474



ETKA

Model
GO

Year

2007

MG

SG
71

Restrictions

Rabbit/GTI

Illustration

972-99

UPD
597

18:27 |

05.12.2006

USA

Pos

Part Number

Name

Remarks

Qty

Model

1-384

1-396

3B0 959

1J0 972

1J0 972

1J0 972

N 018

N 906
893 971

1J0 972

743

724

752

754

007

851

632

712

01

locally-made harnesses

corrug. tubes, t-pieces,
clips, holders, grommets,
cable ties, insulating
hose, wiring,

single wires and seals
see special catalogue:
electrical

connecting elements

ok % X % ok ok %

adapter wiring harness
motor for backrest adjustment

flat contact housing with
helper contact catch
connecting piece

motor for backrest adjustment

flat contact housing with
helper contact catch
connecting piece

memory seat and backrest
adjustment control module

flat contact housing
connecting piece

switch for seat, backrest and
head restraint adjustment

flat contact housing
connecting piece

switch for seat, backrest and
head restraint adjustment

adapter wiring harness
heater element-backrest

insulating hose in coils of 5m
"order unit 5"

bracket for connector housing

flat contact housing
connecting piece
seat

flat connector housing with
additional contact catch
connecting piece

heater element-backrest

4 pin
black

8 pin
black

2 pin

W7X0,6
A6,5

2 pin

2 pin
black

PR-3L4,3L5

PR-3L4

PR-3L5

PR-3L4

et _text.frm

page: 001

EPIS 474




ETKA

Model Year MG SG lllustration Restrictions UPD 18:27 ‘ 05.12.2006
GO 2007 9 71 972-99 Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
1-726 harness for rear, right
trunk lid
rear window glass heated
- 136 971 840 A grommet 1
harness for rear,
trunk lid
- 6NO 971 921 female blade terminal housing 1
- 111 971 949 B cable shoe A6 1

et _text.frm

page: 002

EPIS 474



ETKA

et _text.frm

Model Year MG SG lllustration Restrictions UPD 18:27 ‘ 05.12.2006
GO 2007 9 98 998-00R Rabbit/GTI 597 USA
Pos Part Number Name Remarks Qty Model
1K0 998 002 1 set aerodynamic wiper blades Ihd 1
comprising: BOSCH
2K0O 998 002 A 1 set of aerowiper blades Ihd 1
with wear indicator VALEO
comprising:
8LO 998 131 1 set of flat fuses X
comprising:
1KO 998 275 A repair kit 1
tire pressure controll system
comprising:
>>1K6 998 191 gasket set 1
taillight outer
comprising:
>000 998 202 1 set of bulbs H1/H7 X
comprising:
>>1K6 998 215 spacer left 1
taillight outer
comprising:
>>1K6 998 216 spacer right 1
taillight outer
comprising:
>>1K0 998 225 repair kit for headlamp left X
housing
comprising:
>>1K0 998 226 repair kit for headlamp right X
housing
comprising:
>>1T0 998 754 1 set of securing parts 1
comprising:
>>3B9 998 754 1 set of bushings 1
for wiper motor: rear
06D 998 907 repair kit for valve 4
unit
comprising:
page: 001 EPIS 474



	02.pdf
	03.pdf
	04.pdf
	05.pdf
	06.pdf
	07.pdf
	08.pdf
	09.pdf
	10.pdf
	11.pdf
	13.pdf
	14.pdf
	15.pdf
	16.pdf
	17.pdf
	18.pdf
	19.pdf
	20.pdf
	21.pdf
	22.pdf
	23.pdf
	24.pdf
	25.pdf
	26.pdf
	27.pdf
	28.pdf
	29.pdf
	30.pdf
	31.pdf
	32.pdf
	33.pdf
	34.pdf
	35.pdf
	36.pdf
	37.pdf
	38.pdf
	39.pdf
	40.pdf
	41.pdf
	42.pdf
	43.pdf
	44.pdf
	46.pdf
	47.pdf
	48.pdf
	49.pdf
	50.pdf
	51.pdf
	52.pdf
	53.pdf
	54.pdf
	55.pdf
	56.pdf
	57.pdf
	58.pdf
	59.pdf
	60.pdf
	61.pdf
	62.pdf
	63.pdf
	64.pdf
	65.pdf
	66.pdf
	67.pdf
	68.pdf

